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l. Fili IN THE BLANKS

. When they came back safe and sound, men began to go up never sure where or when they would ........
. carried

dand

landed

. carry

. From then on, another language is easy insofar as it our own .

. resembles

, depends on

. Separates from

. discusses

. Perhaps if he kicked his feet he could ........ the log across the river.

steer

. spread

reach

. imply

. A fine piece of music and a first-rate play has the pey 4. and hold our fullest attention.
. explain

. capture

notify

wrap

. Our bodies are far more machines that men have ever built .
. microscopic

. concentrated )

. wonderful

. aesthetic

of hard work and good luck .

. combination

. People have long been ....... in having one language that could be spoken throughout the world.
. enjoyed

. improved

. interested

. increased

. The couple could not reach a(n} after two hours of discussion .

. search

. expression

. organization

. agreement

. During the days of long sea voyages, the captain of a ship was to conduct a marriage ceremony.
. created b. tried c. improved d. authorized

1
a
b
c.
d
2
a
b
c
d
3
a.
b
c.
d
4
a
b
c.
d.
5
a
b
c
d
6.
a.
b.
C.
d
7
a
b
c
d
8
a
b
c
d
9
a
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10. Careless driving ........ the safety of other people .
a. dangerous
b. endangers
c. endanger
d. endangering
11. Mary’s ....... with different languages has made her very successful.
a. ability
b. attendance
c. familiarity
d. existence
12. Nearly all defendants were ......... with murder, enslavement, looting, and the g against soldiers.
a. conquered
b. charged
¢. persecuted
d. accused
13. Millions of stars are invisible to the
a. abnormal
b. disordered
c. naked
d. ordered
14. Talking to a group increases a{thild’s L.
a. period
b. identity
c. poise )
d. exercise
as we know it today became a great in the history of education.

a. publishing

16. Perhaps the first words were of sounds our early ancestors heard around them.
a. professions

b. exclamations

. imitations

d. imaginations

17. The ........ of his success has made him proud.

a. leisure

b. avoidance

C. sweetness

d. treasure

18. Even parents and close friends may not be aware that a person is drugs.

a. transforming b. affecting c. influencing d. Abusing
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19. No one has done more to draw ........to the gypsies than Borrow,

a. foundation

b. attention

¢. movement

d. inspiration

20. Water is ........ of hydrogen and oxygen .

a. described

b. surrounded

c. transformed

d. composed

21. Many believe the energy is & quasar.
a. preserved

b. released

c. observed

d, controlled

22. For long years after, internal strife and foreign invasion kept the

a. impoverished

b. invaded

c. failed

d. conflicted

23. My son likes to read famous scientists
a. knowledge

b. discoveries

c. biography

d. languages

24. john was awarde
a. scholarship

»

a. contemplate
b. imitate

C. escape
d. urge

26. The ........ of the crowd broke the door open.

a. recommendation

b. posture

c. estimate

d. pressure

27. The teacher ........ 2 passage to the class .

a. dictator b. diction c. dictation d. dictated
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28. | stood staring, not yet that this was death leaping from man to man in that little distant crowd.
a. realization

b. realized

¢. realize

d. realizing

29. The thief ........the old woman with a gun.

a. threatened

b. threaten

c. threat

d. threatening

30. Research by psychologists stresses personality differences resulting from
a. experienced

b. experiments

. experiential

d. experiences

a. prefers
b. preferably
c. preferment

d. preferred
method of catching thesefish i
a. favor
b. favorite
c. favorably
d. favoritism
33. The positions andn,.\..\. \ofthese celestial badies supposedly can be used to predict the future .
a. moves
b. movable

fl. Synony
34. Most children first learn to grasp the sense meaning of a passage. “Grasp means ........ .
a. “understand”
b. “exploit”
¢. “consent”
d. “conduct”
35. In achieving most purposes, silent reading is more efficient than oral reading. “Achieving” means ........ .
a. “recognizing”
b. “rating”
c. “gaining”
d. “understanding”
36. Nature evidently never intended the back to be a support column. Evidently means ......... .
a. actually b. powerfuily ¢. clearly d. fortunately

Fis
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37. Their keen hearing provides them with most of their information about their surroundings.
“Surroundings” means ........ .
a. environment b. scales C. scenes d. ranges
38. One kind of religious music seeks to create a state of mystery and awe. Seeks means .........
a. “takes after” b. “goes for” c. “throws over” d. “looks for”
39. Primitive man did not have to learn the art of correct breathing. “Primitive” means .......... .
a. “undeveloped” b. “wild” ¢, “natural” d. “early”
40. They quarreled all day long. “Quarreled” means ........ .
a. argued b. continued c. stared d. agreed

lil. READING COMPREHENSION:
READ THE FOLLOWING PASSAGES AND ANSWER THE QUESTIONS.

Reading 1:

purpose other than its origina! function. Elephant@br
trunks to whisk away flies. Chimpanzees catch termites

g pulls the twig out, termites stick to it. Young
g older members of their group. The technique
is a cultural trait that has been p "’ reneration of chimpanzees to the next.
Many animals use various k
back. Dolphins communicate with omg ariother by means of barks, clicks, whistles, and other sounds.
o “speak” to people in sign language. However, most scientists
e the use of symbols to be considered a cuiture.

b. Communication system
d. The culture of animals

a. limited @nimals use signs for communication.

b. all animals can use tools

. symbols are very important for cultures.

d. Animals use tools like man

43. The Passage implies that

a. animals are more intelligent than human beings in using signs.
b. sings used for communication (by animals} are different.

c. chimpanzees use the sign language like human beings.

d. there is no sign language among the animals

44. The word “it” in the 2" paragraph refers to ....... .

a.tool b.purpose c.something d. environment
45. Animals make tools in order fo ........ .
a. be like human beings b. develop their own culture
c. help people to start industries d. make their lives easier.
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Reading 2: Canada’s vast Arctic region is extremely thinly populated. Indians and Eskimos have lived there
for thousands of years, and today they make up nearly half of the region’s population. Most of the other
people of the Canadian Arctic are traders, miners, and members of the armed forces and the Royal Canadian
Mounted Police.

Many Eskimos and Indians still follow their traditional occupations-—fishing, hunting, and trapping, but
in general, the old ways of life in the Arctic have ended. The people live in modern houses than in tents or
igloos. They wear modern clothing and eat food bought in stores. Snowmobiles and motor boats have largely
replaced dog sleds and kayaks as their principle means of transportation.

The end of the traditional ways of life has brought many social problems to the Esk
unemployment rate, and their rates of alcoholism and crime are rising. The
economic conditions as the result of the discovery of petroleum in the

jobs in the construction of pipelines to transport oil and nat

However, this construction also threatens to displace entire co

traditional Eskimo way of life.

46. According to the passage,

a. some Canadian traders and miners are Eskimos.

b. The Arctic region of Canada is not populated.

47. Which one of the following ite

a. Today they still use sleds as-their

2 modern way.

d. Today they den'\ eir traditional occupations.
. arh w or the changes in the future in the Arcticis ........ .
. ern technology b. building of modern houses.
@ducation of children d. the discovery of petroleum
49, The passage implies that ........ .
a. High rate of unemployment has changed their lives totally.
b. Eskimos and Indians have experienced changes in transportation.
¢. They are not likely to experience changes in the future.
d. Today they use modern technology to make their living.
50. Elimination of the traditional style of the life ............. .
a. has created some problems for Eskimos
b. has solved Eskimos’ economic problems.
c. has created employment for Eskimos
d. has decreased the rate of crime
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A. VOCABULARY
1. Socrates' followers were greatly distressed at the outcome of his trial, but he took the
calmly.
a. prince
b. king
C. queen
d. verdict
2. Sleep disturbance is one of our most common disorders. For example, an esti
people in the U.S. suffer from ..c.c.cvvvvivvinnnes .
a. descent
b. insomnia

¢. downswing
d. respiration
3. A psychiatric team issued questionnaires to Sevpra edvpatients with psychoses, depression,

and other mental .....coeevveeeveen

a. deprivations

b. myths

c. ailments

d. odysseys

4. No rain ever falls therei or - but the cloudless firmament stretches around it on all sides.
“firmament” mean

a. The sky

b. The weather

d. The maintains

5. She seemed a very goddess consorting with mere mortals. "Consorting” means .....ceeeee .
a. forced

b. associated

C. conspiring

d. surpassing

6. The misery of all when Psyche's father brought back this ................ news can be imagined.
a. fragrant

b. pleasant

¢. lamentable

d. odorous
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. Was he her dear husband? No; He was a horrible serpent and she
. sorted
. loathed
. declared
. flooded
. The father of Gods and Men at one to all that Cupid asked.
. devoured
. plunged
. consented
. perched
. It is only by remembering something of the past that we canjlm...,o...},.. sS0mething of the future.
. cease
. wander
. leave out
d. anticipate
10. You will probably be faced with choe
choosing the design and w
a. dolman
b. jabot
C. Crosswise
d. fabric
cket with no front fastening is called ..o vvvevvnieeeccnns .

¢. peplum
d. bolero

12. Gifted with a rich voice, he was also a soloist in the choir at Ocklynge School.

a. soprano

b. applauded

c. cauterized

d. irreparable

13. Epstein gingerly moved the vibrating tip against Julian's tumor. There was no room for error.
"Gingerly" means .............

a. surprisingly b. fantastically c. attentively d. remarkably
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14. Until very recently, told one to take a handful of different ingredients to make a
dish.
a. figs
b. sieves
c. stiffs
d. recipes
15. In order for you to learn how to meditate carefully, you need to have
to you by a T.M. teacher.

a. imparted
h. purified
g O

¢. haunted

d. secluded

16. His adherents have included Stevie Wond@, 0 he Beach Boys, and Joe Namath.
"Adherents" means .....cccoeeeen. .

a. friends

b. family members

C. supporters

d. predecessors

17. Books can help tore f the fears that commonly young children.
a. enact

b. inspire

c. afflict

document giving the holder the sole right to make, use or sell an invention and
preventing others from imitating it is called ..ooeeirvervenenenes .
a. patent
b. velocity
¢. sludge
d. donation

, or the elaborated sedan chair, was probably southern Asiatic in origin.

a. traction
b. yoke
c. catchall
d. litter
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20. Although particulate fallout decreased, the city was still by increasing amounts of

yellow-brown haze.

a. persuaded

b. bothered

c. accepted

d. responded

21. The greatest health gains are enjoyed by completely sedentary people who become/moderately
active. "sedentary” means ......ccceceveenenes .

a. flexible

b. immobile

. impressive

d. normal

22. Walking seven miles three times a week provide pondering tirde and has proved to be a natural

a. ailment

b. expression

c. tranquillizer

d. ordeal

23. Egged on by his wife, he too alking again and hasn't stopped since. "Egged on" means

a. encouraged
b. discharged

language survival is an excellent example of the of speech and faith within
a culture.
a. preceding
b. rallying
¢. resisting
d. integration
25. In 1980 about half of the French speaking population of Quebec voted in favor of seeking
for their province.
a. fur-trapping
b. sovereignty

c. recitation
d. curriculum
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for the future and can give better individual

a. regiment / conversation

b. promise / instruction

c. inclination / interpret

d. experiment / envision

27. Computer teaching machines offer the hope that the emphasis in educatjo

of the subject,
a. taken off

b. taken care
c. given back
d. evaluated

U

28. Most companies allow their computer program ing into routine drudgery. "Drudgery”
MEANS wrveerrereverrerereens .

a. easy work

b. interesting work

¢. hard work

d. striking work

29. The fire which AW e in 64 A.D. could not possibly have been Nero's doing.

a. adopted

b. gutted

30. But they are made variously of gold, silver, or some other rear metal. Sometimes bedecked with
gleaming gems. "bedecked" means ..o,
a. ebbed

b. outraged

¢. decorated

d. disputed

31. Adog can be to perform some task by rewarding him with food.
a. conditioned

b. complained

¢. rationalized

d. frustrated
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32. Money is not a great motivator unless, perhaps, workers are kept below the level s0
they must work harder to eat more.

a. incurable

b. dissipation

¢. infringe

d. subsistence

33. Nothing puts people more at ease than self-deprecating humor. "Deprecate"” means
a. prick

b. condemn

C. jest

d. contempt

34, Stinging remarks us every day, often when welre least prepared.

a. wipe

b. zap

C. jest

d. feign

35. Because he chooses fortu

respect him.

a. moral

b. prod

¢. chore
d. inferior
36. in the what is the main idea of the writer?
always make war when they say they love people, the loud love of peace makes one
guiver more than any battle-cry.
a. War is in fact a kind of peace.
b. If people love peace, they must go to war.
¢. Talking about peace solve the problem of war
d. If someone loves peace, there is no need to shout it.

B. READ THE FOLLOWING TEXT AND THEN ANSWER THE QUESTIONS.
The courts recently ruled that Hitachi was within its right to fire a worker who refused overtime.
Worried about the possible repercussions on the company's reputation, however, Hitachi is setting
up dorms with private rooms, improving work conditions, and cutting back on working hours.
Hitachi employs 880 people with doctorates and in an effort to hold on to them, in rushing to

change its image.
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37. ThE COUMS oo s s .
a. worried about Hitachi
b. voted against Hitachi
c. voted for Hitachi
d. fired Hitachi
38. Why is Hitachi improving its work conditions?
a. Because of the courts' vote.
b. Because of high income.
¢. Because of its reputation.
d. Because of high costs.
39. The word "image" at the end of the passage should mean.
a. presentation
b. imagination
c. production
d. reputation
C. READ THE FOLLOWING TEXT AND THEN ANS
Leaders in industry claim to of
world. But they must learn to
actually blocks man's efforts to athjieve his full potential. The primary function of any human
meaningful existence. Labor has always been the lot of man, but

/il in business.
tered as a worker
¢. satisfy his animal needs

d. enjoy a meaningful life

41, The writer believes that ...t e senees .

a. finding a job depends on our abilities.

b. industrial revelations couldn't give the workers the opportunity to live better.

¢. a job needs not to be satisfactory.

d. traditional management approaches could not help employees to enjoy their life.
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D. READ THE FOLLOWING TEXT AND THEN ANSWER THE QUESTIONS
Working men in the Tokyo area currently average six hours and 26 minutes of shut-eye per night, 35
minutes less than 10 years ago.

42. According to the passage, working men in TOKYO ..o
a. sleep 7 hours and 1 minute today.

b. sleep less than 10 years ago.

¢. sleep during the work time.

d. sleep six hours less than before.

43. The word "currently” should mean ......ccceeeeeeeee

a. while flowing

b. suddenly

C. now

d. movingly )

E. READ THE FOLLOWING TEXT AND THEN ANSWER T

Using a literature-based unit
approach for helping children

¢. dramatization

d. artistic expression

45, According t0 the PasSage .t e e rrersresssensses .

a. Children must learn to speak about their fears if they want to overcome them.

b. Going to school is necessary for children in order to [ean to speak.

¢. Itis a good idea for children to work at darkness in order to overcome their fears.
d. Many of the childhood fears may be created by dramatization

46. The word "promising" should mean ......cccccevvveern.

a. hopeful b. sparse ¢. scribe d. scare
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F. READ THE FOLLOWING TEXT AND THEN ANSWER THE QUESTIONS
If you feel you need to end your talk with a joke, make sure you go out with the bang. When a

closing joke falls flat, it is almost impossible to recover. Even the most experienced comedians have

to be prepared for an occasional misfire. That's when the pros pull out their life-saver—a line that
helps make up for the bomb. When Bob Hope bungles a line, he sometimes follows it by saying, "my
wife told me that story would never work. | see you all side with her."A few more hints: keep your
material short, tell it slowly and, no matter how hilarious they are, don't laugh at youf

47. A person is not expected tO . i

a. laugh at other people’s jokes.

b. make his or her humor short.

¢. laugh at his or her own jokes.

d. practice his humor in advance.

48. The word "pros” in the above paragraph should

a. professionals

b. processes

¢. professors

d. advantages

49. According to the passag

a. Closing jokes s

b. Always you p

¢. Closing -&}‘
. w al misfires it is a good idea to describe your spouse viewpoint.

78 the main idea of the last paragraph?

a. When a joke falls flat, it is a good idea to practice.

b. Practice makes perfect!

¢. The best way to get to the Albert Hall is playing golf.

d. A joke telleris a kind of athlete.
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1. If we want to study effectively, which of the following dictionaries should we avoid?

a. ESL abridged dictionaries b. British English dictionaries
c. Persian-English dictionaries d. Synonym-antonym dictionaries
2. Knowing will sometimes enable the students to avoid repetitive /tgfergnce to the

dictionary and save time for useful study.
a. the rules of English

b. the prefix formation 2
c. the spelling rules of the language
d. synonym construction
3. In a dictionary, the real meaning of a word\ dije " depend on of the definitions.
Rather, it depends on the use of that word ia
a. the context ¢. the usage
b. the sequence d. derivation
4. A good dictionary expl4in5.abdut the origins of the words and their history, i.e. their
a. etymology honology b. context d. usage
5. %l talke “today” is an example of using language.
a. fory c. colloquial b. idiomatic d. contrastive

6. Which of the following is true about reading skills?
a. speed of reading does not usually matter that much
b. poor reading is the result of lack of comprehension
c. speed of reading depends partly on the reader’s vision
d. vocalization and regression are positive features

7. What is the function of the underlined part in the following sentence?
The cost of materials rose sharply last year. Accordingly, we were forced to increase our prices.

a. a contrast connective c. aresult connective
b. an addition connective d. Time-sequence connective
Lmaolf&ﬁlmﬂ Yl gss 45 303 Sl 33 5 2ola BT b 590l (sla dim ;‘ET‘«L@? &‘J})z*_
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8. We should try to buy and read our own books rather than borrowing the other people’s books.
That’s because of the fact that ______build active reading.
a. defining grammatical points
b. quick analyzing
c. bookkeeping, book shopping, and buying books
d. underlining, circling, and marginalizing

9. The student who is good at note making is skillful in , t00,
a. outlining b. describing c. transition

10. The type of test in which you are not expected to writ ething/and your responses are
limited to choosing or marking is called ______ test.

a. subjective

c. circumlocution

b. set a definite schedule and a
c. follow the assignment

will tell us about the of the words as well as their different

definitions¢ \wi us whether a word is formal, colloquial, archaic, poetic or slang.
a. wo sis derivation b. usage
c¢. grammfar development d. process of formation

13. Which of the following choices is an example of an idiom?

a. Ante meridian b. rule of thumb
¢. American business d. grand canyon
14. “The movie was really cool” is an example of using words in English.
a. loan b. British c. slang d. formal
15. The context makes it easier to the meaning of a new and unknown word.
a. look up b. correct C. guess d. define
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16. All of the following items are examples of expository writing except .
a. factual reports c. analysis of purpose
b. evaluation of arguments d. narrative stories

17. Skilled readers should make use of less regression and a better

a. vocalization ¢. pronunciation
b. peripheral vision d. outlining
18. In , the generalization is usually stated at the end of the pa

a. deductive paragraph ¢. inductive pasagrap,
b. paragraph of analysis d. paragraph '

19. In which of the following types of the paragr@hs,
sentence and the following information elaborateg oy

things?
a. analogy paragraph . ription paragraph
b. comparison & contrast d. paragraph of definition

echfiigue of reading. What does it stand for?
oadipg-reconstructing-remembering

21. A usefuf solution in note-making is that you should _____ 7
a. listen to the details of the lecture when the lecturer speaks too fast
b. stop making notes when you feel that the lecturer is digressing
c. try to look up the unfamiliar idioms you hear immediately
d. write the detailed information presented by the lecturer

22. Which of the following is true about the reading proficiency in a foreign language?
a. successful readers read slowly but accurately
b. regression may increase our reading speed
c. vocalization improves the reading efficiency
d. slow reading in EFL is a real weakness
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23. Since the movie which was shown in the school was , the schoolchildren were all
running and jumping in the yard.
a. excited / excitedly c. excited / excitingly
b. exciting / excitedly d. exciting / excitingly

24. The words “archaic” and “obsolete” when referred to some words in a dictionary sjganthat
those words ___
a. are no longer used in the modern language
b. are not recommended in informal usage
c. are used in their particular contexts o

d. are not used in writing but in speaking

25. Which of the following is a good advice for finding the thednige of a word in a dictionary?

example of
a. motivation froi b. motivation from inside

b. learning by § d. concentration without distraction

Read the passage and answer the following questions

I am Doug Alan. | recently spent two years in the Arctic filming the series Blue Planet. 1 love
being in an environment that hasn’t changed for 20,000 years. Of course it’s freezing, but it must
be a healthy place because you never catch cold. When I'm filming, T like to really feel how lonely
the environment is. Filming underwater involves cutting through thick ice and diving in ties to a
line. The person at the other end has to be ready to pull you out fast if necessary.

Originally I was a research diver for the British Arctic Survey project. But for me science lacked
excitement. I’'d always enjoyed photography, and whenever camera teams passed through, they
encouraged me to watch and learn. I was then able to move into filming in 1985 and have
contracted on Arctic and Antarctic wildlife ever since.
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I prefer to be face to face with the animals I'm filming. I haven’t got in the water with killer
whales yet, but 1 plan to. Of course it’s dangerous if you choose the wrong moment, they’re big
animals and can move fast, so I’d be stupid to film them searching for food.

I’ve never had problems with polar bears, although once I was frightened when one tried to get

deliver high-quality work.

27. In this text, Doug Alan is describing ............
a. the challenges of environment he works in

b. the career opportunities in TV camera work
c. the difficulties of having to work alone
d. the way he changed his job forever

b. although he 1s going to film them, he will be very cautious about it
c. he believes that killer whales are not as dangerous as people think
d. it 1s very exciting to kill the whales when they want to attack vou

30. How does Doug describe his experience with a polar bear?
a. Doug felt nervous that the bear might come back.
b. The bear seemed to know Dough wasn’t a danger.
c¢. Doug realized he was wrong to trust polar bears.
d. Doug has always been frightened by polar bears
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I — Choose the best answer to complete the following sentences.
1. By the end of this month she expects to six chapters.
a. be written b. be writing
c. have written d. have been written
2. Some years ago there a few houses in this area. But now you see
buildings around here.
a. could have seen b. wouldn’t see c. could be
3. His preference his only daughter is very obvious.
a. about b. of
4. I really like my classmates and this quarter,
study hard.
a. yet b. when
5. Which of the following is correct?
a. My mother and father both talked toAh
b. My mother and father talk ¢
c. Both my mother and fathe

6. "I hate black. I had nr

(Indirect speech
d. had have

in love with Venice.

always been b. I had always been
c. I always was d. he has always been
s should be learned.
a. How we build words b. How words built
¢. How words are built d. How we built words
9. The doctor asked OK. T told him that T did not feel well.
a.if I felt b. me I felt c¢. me am I feeling d. If T was felt
10. Akbar, dictionary you borrowed, is a student.
a. that b. who ¢. whose d. which
|5 you are their commanding officer, you are responsible for the behavior of these men.
a. So much b. Whatever ¢. Inasmuch as d. Therefore
¥\ A AR pg ey
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12. While he was washing his new car, Shahram a small dent on its door.

a. has discovered b. was discovering

c. is discovering d. discovered
13. The last time I in Shiraz, the weather was hot and humid.

a. had been b. was c.am d. will have been
14. Some people like cream and sugar in their coffee, while

a. others drink hot coffee b. others like it black

c. milk is good in coffee, too d. sugar can cause cavyse
15. Who is looking after the baby? ‘

a. in charge of b. need for c. interest J/ in the course of
16. Recently, Ali has been spending most of her time (do)...\.(.\.Y/. Tesearch for a book on pioneer
womern.

a. to do b. was doing hg bee d. doing
17. The student, ............... his lesson thoroug

a. studying b. was studying Bad/s \) d. having studied
18. The girl walked along gracef; @, to be a heavy burden at all.

a. didn’t seem aing ¢. not seem d. not to seem
19. Tehran, a city gillion people, has always fascinated me.

a. 1s housing Vg i ¢. housing d. with houses
20. That professor i the, pels about scholarships.

¢. who should see d. seeing
e are taking this test, my brother to Africa.
? b. takes c. to take d. taking
Al ---------- studied chapter one before he began studying chapter two.
b. well c. already d. yet
23. Do you think he is able to carry this load?
Yes, | am sure he

a. may . Wi ¢. must d. can
24. He is very poor now but he was very rich not long ago. I mean, he to live in a very
large house.
a. uses b. was used C. was using d. used
25. 1 think you made a mistake by putting all your trust your new friend.
a.on b. at ¢. within d. in
¥ LY amie MR 09> Jluas
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26. Ali studied hard for three months the exam with a high score.
a. Hoping to pass b. Hoped to pass
¢. Hoping to passing d. Hoped to passing
27. He was greatly delighted being elected the president of the school.
a. for . ¢. with d. at
28. Which of the following sentences 1s WRONG?
a. He attempted to move the car.
b. My car needs washing.
c. The teacher forbids talking in class,
d. He intends buying a new house.

29. 1 have been looking forward ----~--~----- my old friend.
a. to seeing Lo d. to be seeing

30. One of my cousins
a. who studying b. is studying WO/ d. who 1s studying
31. Change the following into indirect speech,

c. He wanted to know if AN to help him and I said I would.
d. He questioned mea\if i ¢oa @have time for help and I agreed to do it.
32. “Why is vour ha

uuuuuuuuu my cousins but also their friends have come over for dinner.”
b. Nor c¢. Not only d. Too

Saeed said, “I have seen that film before.”

a. Saeed said he has seen that film before.

b. Saeed said he saw that film before.

c. Saced said he had seen that film before.

d. Saced said he would see that film before.
34. He is not able to speak a sentence correctly he has spent a long time studying
English.

a. although b. in spite of c. unless d. even if

¥ Y dmbe M- pgd Jues
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(35to 46 (.25 point each)
I1 - Complete the following sentences using the correct form of the words in parentheses.
Last week while T (35)................... (study) in the library, T (36) (ask) myself why I
was working so hard.
37. I couldn’t (have) more thrilled when I heard about your engagement.
38. If I go to the post office, I (get)
39. If I (have)

IV - complete the following se
43. A: Is John's father rich?
B: No, but he spends mongy....

49. “Two next-door neighbors opened their front door in the morning simultaneously. Then all of a
sudden both of them closed their doors.” What do you think was the reason for this event?

50. What are teachers looking forward to?
(Answer)

f 3 F dsde A 29 Jhm.,,n
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A) Write one Topic Sentence (NOT PARAGRAPHS} with each word. Limit each topic sentence based

on two or more limiting ideas such as place, quality, similarity, etc. (two items — \ ¢ points)

\. pollution: -- Pt

y. technology: N M .

\
U

B. Complete or expand the following sentences using the keys\in patentheses. (v items — ¥ points)

v. Fruits are main sources of different types of vitamj stance)

AN
VY

o

¢. Some drivers do not tprules seriously, contributing to

, in England people drive on the left.

C. Define the following two words in two sentences. : {}.¢ points}

v, Fast food

VY dsdee MR ped Sl
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D. Write a complete paragraph of exemplification by supporting the topic sentence below. (¥

scores)
q, Topic: Some Jobs require high degree of education to be done properly.

E. First choose two topics out of the three ones. Then write one complete paragraph for each of
the two. {*\ points)

v+, enumeration; cause and effect

Topic: the effects of doing regular exercise

VY. contrast

Topic: the difference between studying at Payam&Noor o@ universities
vY. facts and statistics

Topic: Study the following diagram. Then writ
the information. (the information i etical = 5,8 )

~ AN

e)pf tourists going to different
N previnces in lran

AYAA

A Vol
Isfahan " (\

Vol

Y

el

\U/"ﬁ/lazandaran

Kish Island

Other
Provinces

¥ 3IY A MR pgd Jlas
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1. The larynx in human beings is .............. compared to that of other primates.
a. in a lower position b. in a higher position
c. more upright d. thicker and more muscular

2. Those functions that control motor movements involved in speaking and object ma

a. largely confined to the right hemisphere
b. largely confined to the left hemisphere of the brain for m¢
c. located in both hemispheres
d. relative to human brain size
3. Humans can refer to past and present. This prapektyyofhuman language is called .............. .
a. duality b, \nformgtion signal
c. arbitrariness d. displacement
4. Words in language which gcho ounds of objects and activities seem to contradict the property
Of v .
a. arbitrarine b. productivity
d. duality
5. Open-sagedness is another term for ................. .
a. arbitrariness b. fixed reference
c. productivity d. displacement
6. When symbols are used to represent words in a language, they are called .............. .
a. ideograms b. logograms
C. pictograms d. alphabets

7. Chinese writing system is an example of ............ .
a. alphabet b. syllabic writing
¢. ideogram d. logogram

¥ Y Asde
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- S deals with the perception of speech sounds.

a. Auditory phonetics b. Articulatory phonetics

c. Acoustic phonetics d. Phonology
9. The production of involves almost blocking the airstream and having the air push through
the very narrow opening.

a. affricates b. stops

c. fricatives d. liquids
10. The description of the systems and patterns of speech sounds i

a. phonetics b. phonotactics c¢. phonology

a. allophones
c. minimal set
12. Which of the following is NOT
a. pig, big, bag b. fit, fate, fought
c. vote, goat, boa d. chain, sane, pain
Y seat is described as ... .
b. front, high, round
c. front, 1igh, unround d. back, low, unround
14. Which element is necessary in the formation of syllables?
a. onset b. nucleus d. cluster d. coda
15. New words, based on the name of a person or a place, are called .............. .
a. etymology b. eponym c. borrowing d. acronym

16. In the process of , there is direct translation of the elements of a word into the
borrowing language.
a. borrowing b. clipping c. derivation d. calque

¥ Y amie

Lﬁolzwﬂéuj.o)-r._‘m}m%jm&bwy&nb L)JMJTL,N)}OTC;LQW56|MKQ._)|5)A
www.Sanjesh3.com -OV-AFOA-AY www.SanjeshT.com



SR ¥ g SOV il (V) il iS5 g0 ab
gl p et ged i) el ol WATANY s eSO sl g L3 ATAY 05 1 ST 5L e 20 S0 O [ Slaeod 4

anf e — 131 oolicuw! (V) S sl (g g oF

17. if we make the verb “to televise” out of the noun “television”, the process is called................ .
a. clipping b. conversion ¢. back formation d. compounding
18. .ccveeeenene. @re not used to produce new words in the language, but rather to indicate aspects of
the grammatical function of a word.
a. infixes b. inflectional morphemes
c. lexical morphemes d. derivational morphemes
19. Actual forms used to realize morphemes are called .............. .
a. morphs b. allomorphs c. phones
20. The main concern of structural analysis is to investigate
a. description
c. distribution

terpretations that have to be represented

C. recursion d. structural ambiguity
ords can be used when we rewrite constituents are called........... .
b. structural rules
b. transformational rules
.. meaning covers those basic essential components of meaning that are conveyed by the
titeral use of a word.
a. Associate b. Conceptual ¢. Stylistic d. Lexical

24. When a noun phrase is used to designate an entity as the person who has a feeling, perception or
state, it fills the semanticrole of ... .

a. goal b. theme . instrument d. experiencer
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25. In the sentence “She handed the magazine back to George.”, the roles of “magazine” and
“George” are respectively.

a. experiencer, goal b. theme, goal

c. instrument, theme d. experiencer, theme

. Common examples of are enter/exit and tie/untie.
. gradable antonyms b. homonyms
. prototypes d. reversives

. The lexical relation between rase and flower is called ............ .

. hyponymy b. gradable anton

. non-gradable antonymy d. complementa

. When one form {written or spoken) has two 0!5!10:’ 2 meanings, it exemplifies ..., .

. hyponymy b. polysemy T d. homophony
29. The study of what speakers mean, or spegke
. deep structure
. semantics d. pragmatics
. What a speaker or wyi Ushes is true or known by a listener or reader can be described as.... .
. presuppositio b. inference

d. reference
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1. Maxim of says: Be clear, brief and orderly.
a. quality b. quantity C. manner d. relation
2. The sentence: a sandwich is a sandwich. “seems to contradict the maximof .............

a. quality b. quantity ¢. relation d. manner

3. Words or phrases used to indicate that we are not really sure that what v% ¥ saying is

sufficiently correct or complete are called ............
a. hedges

¢, ties
i memory are called ...........

a. script b. schema . Anphcaiy d. hedge
5. Wernicke’s area is crucially involyed infhe .(\ 4. ). of speech.
d. understanding

a. motor coriex b. arcuate fasciculus

¢. broca d. lateralization

b. conduction aphasia
¢. wernicke's aphasia d. anomia
8. In a grammatic speech the ...
a. lexical categories are missing b. grammatical categories are missing
c. lexical structure are missing d. grammatical markers are missing
9. Dichotic listening test shows left ear advantage for
a. linguistic sounds b. syllable and word processing

¢. all sounds d. all motor activities
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10. The child develops some sentence-building capacity and can get the word order correct in ...
a. two- word stage b. one- word stage
¢. telegraphic stage d. three- word stage
11. When a child says “goed” instead of went, the phenomenon is called ............
a. overgeneralization b. holophrastic
C. overextension d. generalization
12. When a child uses the word bow- wow to refer to cats, cows afichiorses,\as/meell as dogs, the
phenomenon is called ...........
a. holophrastic

¢. over generalization

a. grammatical structure
c. functions d. syntax
< from L1 when performing in L2 is called .........
b. interference

d. overextension

a. intbgrative motivation b. negotiated input
c. intake d. output
16. The general ability to use language accurately, appropriately and flexibly is called .........
a. interlanguage b. performance
¢. communicative competence d. grammatical competence
17. Gestures that seem to be a reflection of the meaning of what is said are called

a. iconics b. beats ¢. symbols d. emblems
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18. A system of hand signals developed by speakers for limited communication in a specific
context where speech cannot be used is called
a. primary sign language b. alternate sign language
¢. oralism d. deictic
19. A reversal in position of two sounds in a word is called
a. internal change b. prosthesis
c. epenthesis d. metathesis
20. The fact that certain types of sound change are very comifjjon
unlikely is related to
a. majority principie
¢. most natural development
21. The term is used to describe {
pronunciation.
a. standard language b. accent

c. dialect d. variety

22. The hine that 1¢ a\" \§-2'boundary between the areas with regard to one particular linguistic

item is calledn,
b. dialect contingum
d. isogloss
23. A variety of a language that developed for some practical purpose such as trading, among
groups of people who had a lot of contact but did not know each other’s language is called ........
a. Creole b. pidgin ¢. diglossia d. post-Creole
24, Qur ability to modify our speech style toward or away from the perceived style of the

persons(s) we are talking to is called

a. speech accommodation b. speech community
¢. social marker d. speech style
£ 5Y dmin M- 2> Jluey
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25. Special technical vocabulary associated with a specific area of work or interest is called

a. register b. slang ¢. jargon d. speech style

26. Any non-standard spoken version of a language used by lower-status groups is called
a. jargon b. taboo ¢. slang d. vernacular

27. A word or phrase used for the person being talked or written to ig
a. address term b. classifig

c. lexicalized category d. title

28. The use of some special words (yeah, really) 08 Sopt '

else is speaking isreferred toas ........... .
a. back-biting

¢. hedge

a. jargon
30. The most
b, ovdet/and covert prestige
¢. convergence and divergence contrasts

d. social and linguistic variables
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CHOOSE THE BEST ANSWER FOR EACH QUESTION:
. When he got there he found it had been pulled down some weeks ago The underlined means:

a. built b. bought c. collapsed d. sold
. Let the sleeping...... lie.

.

a. tiger b. lion c. child d. dog
. He is good at figures. The underlined should mean:

-~

a. human form b, arithmetic ¢. numbers
¢. A person who deliberately causes damage to property is callg

4. an arsonist b. an offender c. a vandal

(=]

. The new governments have brought....

a. about b. out
1. He holds a dishonest person in.....

a. roar b. survival ‘ d. furnace
. She used to be thin, but she is filleth,.). .4 lot.

<

a. off c. away d. out
Aeiinns his quiet wa ¢ for his wife's dowry.
a. at c. to d. on
4. There » express on her face. Express means:
a. fee c. look d. relief
v+, Your arguments were clear from the start. There is no need to ....... the point.
a. labor b. concentrate ¢. intrude d. murmur

V1. Those people who are homeless due to poverty are called:

a. misplaced b. unplaced c. emplaced d. displaced
VY. Which one of John Galsworthy's works established his reputation?

a. The first and the last ¢. The man of poetry
b. The happy prince d. Caravan
¥ Y oo A=A pgd Jlass
Lﬁolzwﬂéuj.o)-r._‘m}m%jm&bwy&nb L)JMJTL,N)}OTC;LQW56|MKQ._)|5)A

www.Sanjesh3.com -OV-AFOA-AY www.SanjeshT.com



v e Yl and o3l 5 gladi god fgiyd U

il B 1 g {4Bi53) el s YAYANY) Ll ilnl 5 b =AY 81D el ) amm 20 2 o [ gluaddd iy
s Hloca —— 331 oalidu! (V) S Ml (g0 oF
w.To. oo a friend in a crowd means to recognize him.
a. nap b. spot c. beat d. bait
ve. Defeat was........... them in the face.
a. staring b. facing ¢. moving d. nodding
vo. She wasused as a....... to trap the smugglers.
a. mortal b. bait ¢. scapegoat d. latch
V1. The flames.......... up everything. The underlined means destroyed.

a. haggard b. overwhelm c. cover
w.He........ in his armchair after a hard day's work.

a. fainted b. sobbed c. dozed
‘A, William Sydney Porter's nickname is:

a. Saki b. O’'Henry ¢. Tolste

V4. “He 1s well advanced in years” means:

& i % ssful enough
e
i

the car ran onto the pavement.

a. He is very famous.

b. He is fortunate
y+. The driver....... to avoid the oldTa
) b c. lurched d. skidded
1. The government iSNkyiig 1o cover...the scandal.

a. swerved b.

a.on ¢. out d. away
vy. Mongy helpwite...... away many problems.

a. rem ¢. smooth d. irritate
vy. She wouldn't hurt him for......

a. worlds b. everything ¢. heaven's sake d. time
vs. The hare and hunts with the...........

a. dogs b. rabbits c. feet d. hounds
vo. He is from Sweden. He speaks............

a. Swiss b. Swedish ¢. Sudanic d. Swedian

v1. Someone who has a gigantic appetite is:

a. genius b. starving C. gorgeous d. fat
v Y demde Ao g3 L
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vw. Every .......... has his day.
a. man b. prophet C. saint d. dog

vA. Directors chose a new President, feeling that the organization required

a. old timer b. new blood c. early bird d. easy mark
¥4, John is a really greedy guts. He..... d up all the cakes.

a. twitch bh. grouse ¢. gobble d. gush
v.. Desirable as this plan is, many of its provisions will have to be watered dgWw

before it is generally acceptable. The underlined means: I
a. weakened b. destroyed c. cleansed ymproyed

0
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\. The shared belief of a group is usually expressed by ....

a. sonnet b. lyric c. ritual poems d. narrative poetry

Y. Certain features that poems seem to have in common are pleasing rhythms, striking images,

freshness of perception and ............ .
a. moral impulses b. instinctive work

¢. romantic narration d. economy of language

v. A poem suitable for inscription on a gravestone is

U

a. epic b. metaphor c. epitaph d. imagery
¥. Which of these statements is NOT true?

a.d b. consonance

ive poetry d. exact rhyme

#. In poetry, which one of the following can NOT be considered as a part of meaning?

a. the phrase b. the rhythm

c. the associative relations of words d. the execution of a plan or intention
The Eagle

He clasps the crag with crocked hands

Close to the sun in lonely lands

Ringed with the azure world, he stands Alfred, Lord Tennyson
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v. Which one is NOT suggested by Tennyson in his poem?

a. the loneliness and rugged power the eagle and his human counterpart.
b. the bluish quality of far-off distances.
c. boron’s rocky fastnesses were as inaccessible as the eagle aerie.

d. the pride and the vanity of the eagle and his human counterpart.

so that you

have a foundation for discussing fully his original treatment of

a. point of view b. life c. tragedy

4, The important point crucial to our understandin@

a. setting of the event

C. contrast

\+. The primary emphasis is on chara

a. style b. dramatic poetry
. genre d. poetic discourse

nd, thou breath of Autumn’s being”

ve line of poetry is an example of ........
a. alliteration b. apostrophe c. slant rhyme d. internal rhyme

vY. “How hot the scent is of the summer rose.”

The above line of a poem by Robert graves, there is the transfer of the quality of one sense to
another one which is called

a. synecdoche b. synesthesia C. run-on d. simile
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\v. The theme, the mood and the action of a poem are clarified through determining

a. where the events of a poem occur

b. from whose point of view the details are presented

c. the way the poem is progressing

d. the relationship between the particular details and the larger theme we perceiv

\¥. There are three genres of poetic discourse which are called narrative, dramatj

a. lyric b. elegy c. soliloquy

V0. “The fair breeze blew, the white foam flew, the furrow follo:

a. feminine b. cataplexies

\#. The multiplicity of meaning, which leaves

called
a. connotation b. metapko ¢. ambiguity d. simile

\v. The more unusual the \.\.}/; the more significant its contribution to the poem is likely to be.

b. point of view . subject d. setting

a. subject b. theme c. speaker d. setting

14. “Coming home” is an example of ........

a. consonance b. synesthesia ¢. oXxymoron d. rhyme scheme

.. “Living Death” is an example of

a. metonymy b. synesthesia ¢. synecdoche d. oxymoron
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Y\. Types or categories into which literary works are grouped according to form or technique or

subject matter are called .........
a. figures of speech b. images

c. narrations d. genres

YY. Which of the following statements is NOT true?

a. A poem’s subject is its action or events

b. The central idea or conception of a poem is its theme

Slim Cunning Hands
\. Slim cunning hands at rest, and

b. cozening / cunning
d. stone / fair
to express her fickleness

b. stone . cunning d. cozening

Y5. In the above poem, the words and ......... imply more emotionally than they literally mean.

They suggest the basis for the evaluation.
a. cunning / cozening b. granite / stone
¢. fair / cozening d. wildly / fair
v#. In a metaphor like “the ship of state” , the “state” is the

a. vehicle b. tenor ¢. synecdoche d. oxymoron
vy. Concrete details that appeal to the sense of smell are called ........ images.

a. gustatory b. tactic c. auditory d. olfactory
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Humpty Dumpty sat on a Wali,
Humpty Dumpty had a great fall,
YA. in these ¥ lines of poetry, there is

a. masculine b, feminine c. exact d. end

Y4. Hymns, meditations, songs, elegies, odes and most sonnets are included in

a. narrative poetry b. lyric poetry
¢, dramatic poetry d. end- rhyme
down and broke his

crown, s. And Jill came tumbling after.
v+. The above poem is a kind of

a. narrative poetry
c. monologue
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“But, darling, will they go with the party"?
Ol ylad o s silage

Hard pressed for a reply, | found myself improvising a rationalizati
curious linguistic effect of the title was actuaily inten@é.

QL 3 augunda aS auls b g8 gl iga o anbundls addy § QA o (Suls 48 augs G S ju Gl s e B
a0 90 L'ﬁ baaiinly y xzu Ol gas (yal
G890 pagd 9 o (Al (a8 g JLdS 1 Sedn 4S (0
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People who can do nothing but accept their social mythology can only try to huddle more ciosely
together when they feel frightened or threatened .

Ol S0 Ak ds 3 oS slasil ¢ Oael Jusaablio Ol s A
Goaal )i caulia ya) adas 5y dan yi phas A Y
Ordinary speech is fargely concerned with registering our reaction to what goes on outside us.
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This guestion was put to me by a friend when I confided to him the title | had chosen for this lecture.
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The ordinary people were ground down by lack of food and money.
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Jane’s cold-blooded .
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the old guarrel between the British and the Continental schools of philosophy.

903 0 ylega . JSukia . aejlio g3 31 dsuhio. Al
ok @3 (5 L8,8 e jlas g3 3 cadlone .

Coseal ahaS Savol ok ouauS Tad 5T 4a ) 48 (51 4alS (1 caculia Julas VA
She thought she was hurt, but it wasn’t really the case .
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Then there’s the use of what we call jargon or gobbledegook, or what people who live in Washington or
Ottawa call federal prose, the gabble of abstractions and vague words which avoids any simple or
direct statement

a. The bill was put cn the table.

b. There is a table of contents at the front page of this dictionary.
¢. There is a table in the book.
d. the businessman offered him J&. « + under the tablgo .

They had agreed at the beginning|of thei) &‘ d life that she knew more about painting than he and
that he knew more about music e, so that in these matters each bowed to the superior
judgment of the other .

a. bent forward ¢. inclined d. streaked

§ Saua ehs Saanl Dokl duaiS Jod U] 29548 gl dals Jalas YY
Somep gists maintain that mental acts such as thinking are not performed in the brain alone.

a. manage b. keep in existence ¢. provide d. believe

G ol ?IJS aaLu.a Jotza O g:..\u.ﬁ.la Bel) e g gy

With the community of interests that existed between them it was no wonder that they should live in

harmony.

a. they had many interests in common

b. they loved each other a lot

¢. they lived in the same society

d. they were interested in the same community
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Can sonic booms be eliminated? The answer is categorical negative-they are an inherent part of

supersonic flight.
a. it depends b. related to acategory c. with some doubt d. Absolute
Sonass Aol slias gl s flat alas alas ya. Y0
a. The earth is flat ,not round. b. lie down flat on your back
¢. everything seems so flat since you left. d. | got dressed in ¥ minutes flat.
§ 4als Jolao. YF
The earliest histories were not written, but oral songs and sagas such as the d adventure tales

a. time in history
¢. group of peopie

The listener “feels” himself into the music wi s pronounced motions of his body .

a. very strong b. very bed\tiful wéry harmonious d. Changing

SCaal a8 Cacal ot ouaikS Jad T 433 45 (5 4alS Julas YA

On the evening of Januar

i@ -4 fateful day for the human race, Galileo Galilei, Professor of

Mathematics in the U Pauda, sat in front of a telescope he had made with his own hands.
a. loyal hing ¢. Significant d. wavering

Sosadl aluS ot oudl 004adS Iad OF 523 48 (S s 5y caulie Julas Y4

Sheise with snobbishness but she is not vulgar.

a. confused with snobbishness b. experiences snobbishness strongly
¢. focuses on snobbishness d. gets out of snobbishness

ol alaS Sl auud oundiS Jad ()1 133 4S (g) dalS Jalas ¥

The earliest histories were not written, but oral songs and sagas such as the battle and adventure tales.

a. stories of imaginary events b. an account of events, real or imaginary
c. short stories that teach lessons d. stories about great people
L‘fo&ﬁ|)u}o)—|-._‘y|5m443m&bwy&nb WMJT@“)?TGLQWSL;&@‘—‘E
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Text

Some years ago, in a town in the United States, I heard somebody say “those yellow
bastards,” meaning the Japanese. More recently, in another town, I heard somebod §C Uuse

is.

through which  tjie\T¢o
What 1s mof !

research gts’other than Homer’s description of its location.

The title of this lecture is likely, I fear, to offend some critical ears. For although Sources of
Knowledge is in order, and “Sources of Error” would have been in order too, the phrase
“Sources of Ignorance” is another matter, “Ignorance is something negative: it is the absence
of Knowledge. But how on earth can the absence of anything have sources?

Text @

More than three centurics previously, Roger Bacon, the inventor of spectacles, had
explained how a telescope could be constructed so as “to make the stars appear as near as we
please.” He had shown how a lens could be so shaped that it would collect all the rays of light
falling on it from a distant object.

Lﬁfolfuﬁlm)-r .L‘}J|5.w 43 gad Sk > &nl; L)JMJT L,a.u)j.oT L_gLQ S 9 d:l.)@._) 5
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1. Write a short narrative of a trip. (between 50 and 75 words)

ld e

o

4, Describe the main causes a ffects of air poliution.

(between 50 and 75 words)

Lavo kil sz 5T oV g 45 503 b (g2 )5 2ols T 5 90T (5l s Mg e
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Choose the best answer (a, b, ¢, d) and complete your answer sheet.
V. The most important role in making the existence of a newspaper possible is played by
a. Science b. knowledge c. truth d. language
Y. The following news selection is categorized as .............cooeuenen
More Halfway House Horrors
That was no accident that led to admission of a Y®-day-ol

Sunday morning. D.C. poiice said the he}_pless newborn

fj

*hild's purported father—is where he

should have been all along
a. hard news b. editorial ~. it d. advertisement
. A visit to an unknown place in act0f an Amazon is classified as ...............

c. caricature d. personal

s (CBS) said on Thursday.
a. Dutch unemployment surged by one-third
b. Jobless claims up &A++«
c. CBS reports unemployment

d. £A+ v« people are employed

VLY amie MR pgd Jluos
Lﬁolzwﬂéuj.o)-r._‘m}m%jm&bwy&nb L)JMJTL,N)}OTC;LQW56|MKQ._)|5)A
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READ THE FOLLOWING HEADLINE AND LEAD THEN ANSWER THE QUESTIONS @ AND 1,
Berlin Says "Father” Best Film
BERLIN (AP) — " In the Name of the Father" won best picture honors Monday at the Berlin
International Film Festival and Tom Hanks was named best actor for his performance in
"Philadelphia.”
©. Berlin in the headline refers to

a. The city of Berlin

b. An internationally known actor
¢. A common reporter

d. An international film festival

1. It is implied in the lead that

a. "Philadelphia” is another name for the film " 5th

that we've been on.”
oping to end a streak of nearly £+ years without a medal, U.S. bobsledders put their all-
American, state-of-the-art sled through its first Olympic tests Saturday.
¥y U.S. Bobsled Team Aims High
£) The trail ends Saturday when the two-man event gets under way with two runs on the Y1-

turn Hunderfossen track. The final two runs are Sunday.

a' ““!23‘5Y .b' Yivi\ﬂé C' T‘")in d' v!“i“ii

VY i A pgd Jles
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A. The lead's main function is .......
a. highlighting the content of the article b. starting the news story

c. interpreting the news d. summarizing the headline

a. apposition b. modifier preposing ¢. nominalization d. perggn:

Y+ Which of the following is an example of nominalization?

a. The wreath laying ceremony

b. New Law prompts Minister’s resignation
c. Missing and Exploited Children Center
d. Governor William Donald Schacfer

0

V1. All of the following statements arg

a. Event 1is taken out of time.
b. It focuses on agent.
¢. Event 1s taken out of the

a. passivfzation b. modality ¢. modifier preposing d. adverbials

VY. How many instances of nominalization are there in the following sentence?

Volunteer efforts have helped parents work through their sense of outrage and victimization.

a. one b. three C. two d. four

VY asie AR pgd o
Lﬁolzwﬂéuj.o)-r._‘m}m%jm&bwy&nb L)JMJTL,N)}OTC;LQW56|MKQ._)|5)A
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Y&, What is the significant tactic in the following paragraph?
The team of VY officers and guards, to begin operation after two weeks of special training, will
first target the most violent of the city's schools, according to school officials and police.

a. use of adverbials b. passivization ¢. modality  d. modifier preposition

Special effects in the following paragraph include?
Fewer than half the babies in major U.S. cities get all their vaccinations by
are up-to-date on immunizations don't receive them at recommenged)y
a. Figures and statistics b. direct quotes

c. questions d. passivization

Y1, Which of the following statements is false?

an over Whales
b. Depersonalization  ¢. Apposition d. Passivization

Which of the following statements is Not true about the following headline?
Bombing Destroys Kabul's Historic Mosque
a. There is no sign of human agent.
b. The event appears to be accidental.
¢. The reporter has mentioned the human agent.

d. '‘Bombing' is the agent of 'destroy’.

VP doiie A-Ae pgd Jluass
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www.Sanjesh3.com -OV-AFOA-AY www.SanjeshT.com



— i 1 e 0 Slaad Sl gdae gt il 3 gd pb

i 00 5 gd i) g3l SONNNNY) 8 Slsl 5 35V Y£) S 55 20 sy o [ e 3
(VYY0+ 80 ) gl 1 L3 3 gl

ot} Jlome —— 231 aali! (1) S s thow (g0 o

V3. All of the following statements are correct about editorials EXCEPT

a. Editorials represent the position of a newspaper on current issues.
b. An editorial may criticize the actions of some public officials.
c. Editorials have little to do with what happens in society.

d. An editorial usually begins by stating an issue.

Y+, Which of the following is the feature headline?
a. Manners are traditional but up-to-date

c. It's official: Dig out now

Yy, Manufacturers use advertising to
a. Gain new customers and increase sales
b. Compete among businesses for custo
¢. Persuade people to buy theif(produf

d. Create a favorable image of théi

¥Y.  Classified ads

READ THE FOLLOWING AD AND ANSWER THE QUESTION NUMBER Y Y.

TRAVEL QUESTIONS

Call Y-A« Yoo oty

1 a.m. to midnight Eastern Time

Leave your name, address, phone number and questions on our machine. For hearing-impaired
people with TDO equipment: Y-A++-YTY V1

V30 e M- pgd Jles
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YY.  The above ad seems to have been placed by

a. People who have traveling questions

b. A travel agency

¢. A travel research institute

d. The association of hearing-impaired people

Yi.  Which of the following refers to the source of information?

a. Evaluation b. Attribution ¢. Bias d. Action

Y2, When the journalist mentions the news actor first, he ~yse! C r’ syntactic device
called

a. Apposition b. Passtvization ¢. Generalizatio d\ Personalization

section.

a. Editorial b. Features 0. Saft e d. Sports

vv. In the headline, "Missing Man's ~Found” the role of .......as a syntactic tactic is illustrated.

¢. Modifier preposing d. Adverbials

come a~fong way.” Says a smiling Kim Taegou, president of Daewoo Motor CO Lid, in a
television commercial.

Daewoo Motors aggressive advertising campaign — which cheekily echoes Ford Motor Corps’
long —running "Have you driven a Ford Lately” slogan typifies the film's stance after serving an
unhappy Y °-year marriage with General Motors Corp. (GM) in Y3437,

YA, The headline and lead in the story
a. report the same thing b. reinforce each other

c. are totally different d. repeat each other

V 31 F s M-8 gy Jlos
Lﬁolzwﬂéuj.o)-r._‘m}m%jm&bwy&nb L)JMJTL,N)}OTC;LQW56|MKQ._)|5)A
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Y. The news writer has tried to attract the reader's attention by

a. Starting the lead with a quote

b. Reporting a very important person's opinion
c¢. Raising a controversial question

d. Making his story international

¥+.The word cheekily indicates

a. Law and order b. Satisfaction and consent
c. Seriousness of the situation d. The reporter's evaluation

VIV dmio MAs 20 Jlues
Lﬁolzwﬂéuj.o)-r._‘m}m%jm&bwy&nb L)JMJTL,N)}OTC;LQW56|MKQ._)|5)A

www.Sanjesh3.com -OV-AFOA-AY www.SanjeshT.com



— il v gt Y s Sl 2ol yad glads g3 Sy Al
il 5 s RB0) oeil e (VY V ) T 53 aamsme VY AYAYY ) S a5 53 g o/ ghuand diddy

st Jlove —— 351 oaliiu! (V) SG 2 fee (g 5

Y. When you use "the stage" for the theatre and the professional related activities of the theatre,
and you use "the crown" for the monarchy, you use ......ceen...
a. metaphor b. metonymy ¢. apostrophe d. paradox

Y. A figure of speech in which a similarity between two objects is directly expresseg "or
"as" is called ..ocorrerennn
a.irony b. metaphor c. simile d. personifica
Y. A figure of speech which represents things less important tha =all
a. understatement b. verbal irony
. overstatement d. synecdoche
£, Hyperbole is the synonym for ..c.ccccevvvvenn.
a. understatement
c. allusion
¢, In Alice Henderson's "The Hafvest" aesibns like "the silver rain" and "the shining sun" are
.................. images.
a. auditory b. tagtile c. olfactory d. visual
LT poetry e poetry that aimed primarily at stimulating the emotions rather than at
communicating axpekigiece’ honestly and freshly.
a. Realistj b. Imaginary c. Sentimental d. Modern
¢ The ol ke s fowe,
in heaverr’s high bower,
With silent delight
Sits and smiles on the night” {From “Night” by W.Blake)
Which figures of speech are used?
a. metonymy / synecdoche b. personification / simile
¢. simile / metaphor d. metonymy / metaphor
A, “The moon shines clear as silver,
The sun shines bright like gold.”
Which images are used in the above lines?
a. visual b. olfactory ¢. kinesthetic d. auditory
L‘ﬂ%&lm;r .L‘}J|5.w 43 gad Sk > &nl; L)JMJT L,a.u)j.oT L_gLQ VT ;\?510‘4:4@ Q\‘;‘)g
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1. “Here | come creeping, creeping everywhere,
By “the dusty road-side”,
On “the sunny hill-side”,
Close by “the noisy brook”,
The above lines give the reader a(n)..............
a. the visual image of urban life b. the visual image of rural life
¢. moving image of nature d. moving image of poet’s mind

Y S @n interior, or inside image that cannot be sense
a. Concrete b. Abstract ¢. Visual

d-with fi senses.

Y. The poet's ..veeenne, shows_the speaker's state of mind at the time of or the duration of
experience.
a. image €. meaning d. morality

Y, What dfe
a. Chris

symbolize in Western literature?
b. man c. priest d. an innocent animal

Yo, When William Blake says "He is meek, and He is mild", what does he mean by meek?
a. vicious b. vague ¢. submissive d. gentle

Y eennds anything that stands for or represents something else beyond it, usually an idea

conventionally associated with it.
a. lrony b. Symbol c. Allusion d. Rhyme

YV, A group of verse lines that form a section of a poem and shares the same structure is called

........................

a. rhyme b. poem c. stanza d. diction
Lﬁaoﬂlm)-r .L‘}J|5.w 43 gad Sk > &nl; L)JMJT L,a.u)j.oT L_gLQ VT ;\?_;lh@g .‘L“‘;j‘i
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YA, “The Tyger” is a famous poem by ... .
a. William Wordsworth b. Emily Dickenson
¢. William Blake d. Edward Thomas

Y 4. What does foe in the following lines mean?
| shot him dead because-Because he was my foe

a. enemy b. stranger c. evil man d. friend
Y+, Who is the speaker of Shakespeare’s famous poem “That Time of Year T, st in Me
Behold”?

a. A young lover b. A beautiful lady o)

€. An aging man d. An innocent ¢
Y3, How does the poet in the following lines show Richaf henever Richard Cory went

Ano night, another day.” From “In Barracks” by Siegfried Sassoon
The above lines refer to ............

a. The tragedy behind a soldier’s death

b. The destructive state of war

¢. The boring military life of soldiers

d. The boring every life

Lﬁaoﬁlm)-r .L‘}J|5.w 43 gad Sk > &nl; L)JMJT L,a.u)j.oT L_gLQ VT ;\?_;-lﬂd.:.)@ .‘J}‘;Sg
www.Sanjesh3.com -OV-AFOA-AY www.SanjeshT.com



— il v gt Y s Sl 2ol yad glads g3 Sy Al
il 5 s RB0) oeil e (VY V ) T 53 aamsme VY AYAYY ) S a5 53 g o/ ghuand diddy

st Jlove —— 351 oaliiu! (V) SG 2 fee (g 5

Y&, “l am silver and exact. | have no preconceptions.
Whatever | see | swallow immediately” From “Mirror” by Sylvia Plath
These lines refer to.......coeevecveinnee
a. The mirror is like a lake
b. The honesty and objectivity of mirror
¢. Mirror’s limitation
d. The god-like nature of mirror
Yo, Robert Frost’s “Fire and lce” is about ......ceeeenen. .
a. actual fire and ice
b. physical world and natural fate
¢. the world of human behavior and attitude »
d. hot and cold areas of the world

Y3, The speaker in Dickenson’s “There Is No Frigat@Li : talking about .......cce..
a. the importance and the power of book
b. abstract ideas we find in books
c. important people whose life in beok

d. speed of publication in poeti\stime

YV, When Longfellow in “Rain in S er” says “How it clatters along the roofs, / Like the tramp of

)

¢. symbol d. hyperbole

Which figure of speech is used in these lines?

a. Metaphor b. Allusion ¢. Apostrophe d. Allegory
Y4, “The World Is Too Much With Us” isa{n) .......coeveeeeene. .
a. ballad b. lyrical song C. sonnet d. epic
sl $7552 5T oW g 45 505 S5 (g5 ol T 50T ol a2 sl '-_J,\‘;j“';
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¥+, Therefore all seasons shall be sweet to thee,
Whether the Summer clothe the general earth ...
In the above lines the poet
a. praises all seasons
b. praises nature
¢. addresses the warmth of summer by the word
d. explains the passage of time

Lm"ol%sﬁli‘i‘f;ﬁﬂ )l s 43 03 5y 3 55 ol
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. A: Do you remember a guy {from high school named Robert Sanchez?

B: Robert Sanchez. That , but what did he look like?
A: Really tall, skinny, always wore blue shoes.
B: That guy! Oh yeah! I remember him.

a.calls toorder b. getsontheball c. holds water

- When she is depressed, they

a. roll up their sleeves
c. play second fiddle to her
. 1f we all

a. pitch in b. goit alo

. She 1s not interested in philosophy;

a. bone

. As regards intgl

. Newsp

a. yellow b. brown c. red d. black

T didn’t know she’d written anovel. She s a oo )

a. black sheep b. scapegoat

c¢. dark horse d. white elephant

. He lifts weights after work to ...........oooiiiiini .

a. be tickled pink b. let off steam

¢. be out of sorts d. burn himself out
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4. If a country or organization is , 1t 1s becoming very much less successful than it

was in the past.

a. going off into the blue b. going halfway
c. going to the dogs d. going to pieces

\-. My sisters don't with me about the arrangements.

a. see eye to eye b. skirt the issue

¢. rock the boat d. do the footwork

vy, All the time he was on Moscow, the secret police

a. worked bike a dog b. put on the dog

¢. went Dutch

a. all at sea b. at bay n\{hered d. in the air

\Y. As a reporter, he had a/an N7y Tor a good story.

a. head . L) C. nose d. eye

¢sponsthilities, she ...

b. spread herself too thin

d. made a pig out of herself

a. take the bull by the horns b. deep your nose to the grindstone

¢. strut like a rooster d. have a screw loose

v\ New York has always beena great ... .

a. grapevine b. melting pot c. black leg d. flat tire

and tell him.
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vv. He told his son to be realistic and not to go through life looking at the world through

spectacles.
a. green-colored b. white-colored

c. yellow-colored d. rose-colored

\A. Feeling against him was so strong at the meeting that they

a. pull the wool over his eyes b. gave him the raspberry

c. point their finger at him d. work their finger to th

VA, The company is well-known as a good place to w an dlvays able to hire the

of university graduates.

a. jack of all trades
c. top banana

Sl 5o sladiu S 31
a. He that is born a fool is nev

b. An ill beginning, an i
c. Eagles do not

f change his spots.

q.';::s.._uL.!} d._.\:t:)g :)l gs:\.AL\S ‘)_.3:) (.SLA dfl.ﬂ.“ g..s‘).l.é L;:.u‘)t_é JJLM .ﬂé
vi. Exchange is no robbery.
.b_}tdsigé_}‘dué}cﬁs‘sbﬁ.g‘a .d_}.:\ts.odt.gi_)bd_)\gidi?.&n

g (g 353 A 30 F e adS S seala by g suala ada g

vy. One can’t make war with rose waler .

WS b i Tla Kia ju s Al b S Jsh Sia
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vy The nearer the church, the further the grace.
.ﬁsJJaq:;J\}!eLSQ‘?ﬁqjxda‘}l.g__, (oheu 33 3 (550 Al

SR PN PEEUTP PR PR = ENR P P! s ol s 5K 5l K a3
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v¢. Let’s get the show on the road before it’s too late.

‘:JJJ-::JJ&S‘L‘;:JJ-UJ\,J L}J\}-‘JQJ‘:-‘B-‘-‘-‘-'CSJS-&‘
UJ—}HJ‘)L’_LHSJL“_Q U:LALL:‘ é‘J 1‘)‘){5 i
Yo .They zeroed in on the key issues.

v . | was fit to be tied whar( & t come home.

Ry s S ol SR b gala o paS Je Bl

ip such a fuss in the office that his boss asked him to leave.
R I SPRNN R 8RN e s [ 3 A A
EC PPN ALy

vA He has missed so many classes that he has a snowball’s chance in hell of passing the course.

oS e Gl 5o 00 s JLis ool s (Al 5 s
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v4. I think Mick hit the nail on the head when he said that what's lacking from this company is a

feeling of confidence.
L.JJJ\S";'1JCS}.‘.\%W"T’ QJJJiJJﬂGJﬁ&i-&‘

e dla g
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\. We use the word ............. to refer to a variety of language which is different from others not

just in pronunciation but also in vocabulary, grammar and word order?
a. accent b. structure ¢. dialect

v. Different parts of the vocal tract used to produce speech sound are

a. positions b. cardinals c. larynx é.jartécmamrs

n the way they are ........

a. made b. distributed ard d. perceived

f. Long vowels are different from short vowe(fs

a. only in length b. only in quality
¢. in length and quality d. in being cardinal

tiristic that they end with a glide towards a closer vowel.

b. glide
d. pure vowels

£. We use the word .......... to refer to the opening between the vocal folds.

a. cartilage b. glottis c. Adams apple d. larynx

v. Vocal folds are ... during the production of voiceless consonants.

a. vibrating b, narrowed
c. tightly closed d. wide gpart

A, If the vocal folds vibrate, we will hear the sound that we call

a. phone b. phoneme c. phonation d. allophone
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1. The second phase of the articulation of plosives, when the compressed air is stopped from

escaping is called ..........
a. post-release phase bh. release phase

c. closing phase d. compression phase

v +. Which of the following sounds is plosive?
a. h b.? c. J.

3. In the post- release phase of plosives, there is a period d r@escapes through the

vocal folds, making a sound like/ h{. This is called ..........
a. aspiration b. phonation d. voicing

\v, Vowels preceding [p, t, k] are

d. stronger that

d. forties

a. phonetics b. phonology c. phonemics d. phonotacties

\¢. Sound contrasts that extend over several segments {phonemes) are cailed
a. segmentals b. suprasegmentals c. extensives d. intonations
YV, cneeeens @F€ cOntinuant consonants.

a. Stops b. Bilabials c. Fricatives d. Plosives

LarolS1i8l e 5T =59 3 85 505 s 32,5 ol

T 5 50T (5l ains Adstashind Hloss
www.Sanjesh3.com -OM-AFOA-AN

www.SanjeshT.com



PR PRS- N ERPI Y
il a0 3 gud {4BeB3) el e YAYAYE) O lnl 5 05—V Y VY VE) eSS 5 o y20 tgd o [ gluandd 435,
S Jlome —— 331 askiw! (V) S 2fee gy o
\A. To form an affricate, the plosive and the following fricative must be ..........
a. articulators b. lenis c. forties d. homorganic

14, s IEVEF OCCULS i initial position.

a. /d3/ b./ 1/ ¢./n/ d. /e

¥.. The study of the possible phoneme compilations of a language is called .........

a. phonotactics b. phonemics c. phonology

vy, If there is no final consonant in the syllable we say there is f\.....0..&

a. zero onset b. zero coda

a. weak syllable . u-traliizatian d. schwa

vv. Prominence is produced by fgur_main factors, the most important of which is

a. quality : d: b. pitch d. length

hige two nouns usually have the stress on ...

a. first element b. second element c. both elements d. none of them

W

a. auxiliaries b. conjunctions C. prepositions d. adjectives

v#. In their .......form, auxiliaries never have the weak pronunciation.

a. question b. negative ¢. contracted d. usual

vy, The ........... begins with a stressed syllable and inciudes all following unstressed syllables up to

the following stressed syllable.
a. foot b. rhythm c. metricat grid d. prosody
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YA. Zero realization of a phoneme is called

a. regression b. progression c. assimilation d. elision

vs. When a word's spelling suggests a final r and a word beginning with a vowe! follows, BBC

speakers pronounce the r. This is called
a. linking r b. rhoticr C. intrusive r

All the unstressed syllables in a tone-unit preceding the first stresse

a. tone-unit h. utterance d. pre-head
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A. CHOOSE THE BEST ANSWER (3, b, ¢ or d) FOR EACH QUESTION AND MARK IT ON YOUR ANSWER SHEET,
1. The omission of a word or words from a sentence when the meaning can be understood without
it/them is called uinirecsnans

a. exemplification b. adjustment c. ellipsis d. paraphrasing
2. The corresponding word to “the Beneficent” for (L)) can be ...

3. The Master b. the Owner c. the Lord

All-wise.”
gld aSlo (ghs Cusl (yrof 13 4 g Lilaw! 3 4 ya)
a. Magnifies . ¢ . all d. all
5. What is the emphatic structu
“It is He who has raised upfronpapong the common people a Messenger from among them.”

A8 Ssmun M 355l s ool olos 39 85 gl inais Yo ¥ 3 o 5l g2}

a.among b c. It d. Itis He who
6. The best co r ing word for “providers” in the following English translation can be

svith God is better than diversion and merchandise, God is the best of providers.”
3% o 1S 9 eyl g g4 |l yrag i 335 el g iodillles bl g o bl e g selll e e e o)
a. merchandise b. sustainers C. governors d. believers
7. What is the best translation for (L 3,5 s34 ,)?
a. Fulfill the requirements ¢. catch the calls
b. To prosper the habits d. to feel the call
8. All of the following words can be replaced for “salvation” {,,5) in Arberry’s translation except:

“O believers, if you fear God, He will assign you a salvation, and acquit you of your evil deeds.”
505 098 Lo (gl gl 28 T 13 51 STl el o8 SLaS gl oSl oSio iS5 5 LS oS0 oo alilain o) fgial oyl Lol L)
{whals; oo Lawt jH) Gliliew g ama o )48 ()15,8)
a. Distinction b. discrimination ¢. distinctive d. contemplate
& 3h Y amdie M- pgd o
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www.Sanjesh3.com -OV-AFOA-AY www.SanjeshT.com




Dl v i iOW s Ve oas e 3 BT ) i
Foifupdl 00 il (aiB) eyl oles (Y AYAYR) el lal 5 b5 OV AYAY) eadH b5 am y20 2y o | glodd diad

A g —— 331 ealizw! (1) S s lum (g pow o

9. What is corresponding word for “the most honorable” in the following English Translation”?
“Surely the noblest among you in the sight of God is the most god-fearing of you. God is All-
knowing, All-aware.”

(el 08T 4 Ul s Llod snlosd 5 o 13 335 W 5165 ) 1o L 10l all ol oS i 0Sla ST )
a. The noblest b. All-aware ¢. All-knowing d. most god-fearing
10. The corresponding word for “watch over” in the following translation is
“1t is We who have sent down the Remembrance, and We watch over it.”

a. Sent down b. vanish ¢. guard
11. Which word can semantically be replaced for “imperf
following verse?

like to have veiled from your
a. Shortcoming b. co
12. Which of the following e

b. To remedy a fault
d. To veil the imperfection

a Th i b. The unjust
¢. The foolish d. The evildoers

14. What is the best translation for: " ol LS cloMabs 2 "

a. Be patience against the calamities of the world.

b. Show patience against the wretchedness of the world.
¢. Be patient at the misfortunes of time.

d. Be steadfast against the vices of the time.

Lﬁolzwﬂéuj.o)-r._‘m}m%jm&bwy&nb L)JMJTL,N)}OTC;LQW56|MKQ._)|5)A
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15. What is the Persian translation for the underlined part of the following English translation by
Arberry? “Those who buy unbelief at the price of faith, they will nothing hurt God; and there awaits
them a painful chastisement.

S e @S b e &5 Jls o N oo b Slag ) pleal o5 LSl

N o el glag ar hy i8S LS o B3 oo 5 g a ) pled o GluS 2
16. Which of the following is not an English translation for sle Jlic?

a. A mighty chastisement b. A shameful suffering
c. A terrible torment d. A severe punishment
17. Which of the following sentences is the Persian equivalent for
for the verse: ol zuly bl 5 sl oye) caclay «iig?

Gl Jlato 018 ol 5 LS o Jos 353 oaeg b gz

18. Which of the following is the Engli =
" YT gl 3 %

Void not vour freewill offexings with reproach and injury, as one who expends of his substance
-‘" Qs not in God and the Last Day.
aaiSs bl codl g cie b1y 248 lBse Ll

A““Su“dlm;“"*“bi) -35-'5- dedngg)ﬁia o.))$ -z
he Persian eguivalent for the following English transiation of a part of imam Ali’s
alik al-Ashtar?

“Be entrust with private and public affairs”
458 slezel (G Simin g U85k 4 0 Aol Gliyges leSans g Glaseils b Ll

b Dl LS8 L ad el (e g cogad seel
20. Which of the following phrases can semantically be replaced for “promises you poverty” in the
following English translation?
S e pol Lioed a1y Lo g wd oo 8 ooy 1y Lo (ol sliiomilly o5 jol 5 jal1 oSy o llatl”
“Satan promises you poverty, and bids you unto indecency.”
a. Threateneth you with poverty b. Forgiveness from Himself
¢. Enjoineth on you d. Brought you poverty

& Y asine

Lﬁolzwﬂéuj.o)-r._‘m}m%jm&bwy&nb L)JMJTL,N)}OTC;LQW56|MKQ._)|5)A
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21. What is the meaning of underlined word in the following English translation?
‘Appoint as commander from among your troops’

Casy > RAISER I KNS obaile
22. Which of the following can be the best English translation for ‘s ul g oyl of ?

a. Men of bravery and courage b. Men of understanding

¢. Men of generosity and magnanimity d. Men of sense and trust
23. Which of the following words can semantically be replaced for ‘Be thankfi{’\ e following
English rendering of the verse: ,.aalt JI Sullsi 5 J,Sal by Arberry?

“Be thankful to Me, and to thy parents; to Me is the homeco
a. Show gratitude to b. Return to
¢. Remind me d. Be patient

24. What is the Persian equivalent for ‘to associatp hything with God”™?

: o8 LS S5 ) (e
25. All of the following can be Engi anglation for ‘0,8 o, 8 & EXcept ...
a. To have mercy upon someon b. To show mercy on a person
d. To bear witness
anslation for the following Persian sentence.

Ml iz Jie 3 g S Jo o gl

purest of heart and most outstanding in intelligence.
d. He is the most purified of heart and the most reasonable one.

27. What is the English translation for the following verse?
" (ot pod 5 > 45 el Fe Cawd b5 ol 4] 3 pail ol g2 WY "
a. God is the Protector of the believers; He brings them forth from the shadows into the light.
b. God knows whatever thing they call upon apart from Him.
c. God creates the heavens and the earth with the truth.
d. God! There is no god but He, the Living, the Everlasting.

A 3 ¥F axde

Lﬁolzwﬂéuj.o)-r._‘m}m%jm&bwy&nb L)JMJTL,N)}OTC;LQW56|MKQ._)|5)A
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28, Which of the following is the English translation for "o 5 b, ablst 550 &7
b. To encompass a thing b. To disbelieve in idols
c. To lay hold of a firm c. To strike a simile
29. The following English phrases are the appropriate translation for “ » 5 Ko 1 4" except .......
a. To trust in God b. To fear from Allah
c¢. To rely on Allah d. To put one’s trust in God

30. What is the corresponding word for ‘And verily’ in Arberry’s translation f
verse:

Ol 08 3 g NS oo ol (8393 ek 885 sl T 2IS el (08 p2 5 IS

od is All-suffering, All-laudable.’

a. Thanksonly  b.indeed . - d. Ungrateful

1point
heir hearts and their hearing, and on their eyes is a covering, and
a mighty chastisement. 1point
nows very well what is in your hearts if you are righteous, for He is All-
forgiving to those who are penitent. 1point
4- And of His signs He shoes you lightning, for fear and hope, and that He sends down out
of heaven water and He revives the earth after it is dead. 1point

003 Y udled (0 oS 95 il 5 ety (o k5D

Lﬁolzwﬂéuj.o)-r._‘m}m%jm&bwy&nb L)JMJTL,N)}OTC;LQW56|MKQ._)|5)A
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. When one moves from specific facts to general statement, it is called .......... .
. deductive reasoning

. inductive reasoning

logic

. scientific method

. The conclusion will be true in a deductive argument if .......... .

. the major and minor premises are true

. the major premise is true and minor one is wrong

. the premises are categorized to major and minor ones

. the major premise dominates the minor one

. Which one is NOT among the sources of obtaining inform

. logic

. Sensory experience

. prediction

. expert opinion

. When the researcher's value ingy and'at 3 are integrated in research, it is named ........
. systematic approach

. logical positivism

. modified perspective

. post positivism

o o 6o T e o O oD e WD 0 oD e NOo O T e

C.
d. confirmatory

6. When the findings of one research is transferred to other researchers to prevent them from
repeating the same research, it is categorized as implication of reductivity.

a. conceptual

b. accurate

¢. practical

d. consistent

7. 'Answers to every new question would lead to still further question’, this sentence relates to the

nature of research.

a. explanation b. generative c. improvement d. replicable
L olSiuls o 3T M gans 45 903 3L 42 53 2ol 5T b 590l i PV L SRR PR
Sl U 50 5 0 45 903 O @e Ol ) 50 L?%ﬂ o>
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8. Three major methods of research are experimental, historical and .......... .
a. applied

b. descriptive

¢. exploratory

d. confirmatory

9. In order to discover the mysteries of the universe, research is conducted.
a. experimental

b. exploratory

¢. confirmatory

d. pure

10. Factors influencing TEFL are affective, cognitive and

a. political

b. psychological

¢. social

d. technological

11. Self-esteem, inhibition and tiond Arrs i i factors.
a. social

b. emotive

c. affective

d. economical

12. Which of t

ents try to formulate research gquestion and to do research on topics suggested by their
professor.

¢. The students should consult their professors in polishing and improving their research question.

d. The students should go to their professors and seek advice for the research question itseilf.

13. The characteristic of a good research question refers to the availability of all sorts of
facilities required to complete a research project.

a. manageability

b. narrowing

c. relevance
d. interest

Qo&ru|mjn)|uy|5m443m&bwﬁ&nb L)JMJTL,N) 4.:.».&3,, Lg j
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14. Frequency, intensity and range of a behavior are among the domain of questions.
a. survey

b. descriptive

¢. cause-effect

d. correlational

15. A null hypothesis predicts

a. neither positive nor negative
b. a positive

¢. either a positive or a negative
d. a negative

16. One of the goals of

a. limitation

b. literature review
c. delimitation
d. method

17. Which sentence is TURE about the differénte/between MLA and APA styles of documenting the

sources? ‘
a. In APA, the date of publica i rded after the author's name whereas it is located at the

end of the entry in MLA.
. The title of the book i Jerli in APA whereas the title is italicized in MLA.
follows his/her first name in MLA whereas it precedes his/her first

a. continuous

b. concrete

¢. abstract

d. discrete

19. Nationality and left-handedness are the kinds of variables referred to as variable.
a. dependent

b. independent

c. discrete

d. continuous

L oS> 1) 30T 25 g &5 305 3 (32 05 ol 5T b 590l ; | 45lo g 3
A S s U & Bl (o) 90 LTM&L.% P
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scaling, the numbers are to name the variables, and they do not carry any mathematical

a. nominal
b. interval
¢. ordinal
d. ratio
21. The moderator variable is different from independent variable in that .......... .
a. The researcher has control over the independent variable but not over the
b. The independent variable can be omitted from the hypothesis
omitted
¢. The independent variable influences the outcome of th
does not

without this instruction while s
a. age

b. instruction

. gender

d. tasks

23. Laws, repo

a. nonoffigialye
. ‘
¢. officia

d. secondary source

24. Which one is NOT among the factors influencing the survey method?

a. The samples participating in the survey

b. The instrument to be used in data collection

c. The type of the information to be obtained

d. The exact purpose of the survey

25. The four major types of interrelational methods of research are case, causal-comparative,

correlational and studies.

a. social b. developmental

¢. experimental d. field
LQDLCTMJIM)I\—‘NI}MQJ’MJ‘[JL)J)J&DIA L)JMJTL,N) 4.:.».&3,, L'sl j
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26. Casual-comparative research is different from correlational research in that .......... .
a. Casual-comparative studies involve two or more variables and one group

b. Correlation studies involve one independent variable and two or more groups

¢. Casual-comparative studies involve two or more groups and one independent variable
d. Correlation studies involve two or more groups and two or more variables

27. The type of research in which the researcher has no control over the events is called
a. quasi-experimental

b. longitudinal

¢. ex-post-facto

d. cross-sectional

28. Researchers try to give a placebo to the ...........

a. both experimental and control groups

b. the whole population

¢. control group

d. experimental group

29. Among the factors influencipg | ... refers to whatever happens to the subjects
outside the experimental envir

a. selection

b. test

¢. history

d. maturation

Hituations.

! 3 -‘ -\ esearch refers to the extent to which the outcome of research would apply to

a. mort

b. external
c. construct
d. attrition

L oS> 1) 30T 25 g &5 305 3 (32 05 ol T b 5900 X | 6lSo vy 5 3
Bl 0 9051 2l g 43 903 S5l (92 05 20 bl 5ol slg dung )>
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A: CHOOSE THE BEST CHOICE (a, b, cor d) FOR EACH QUESTION AND MARK IT ON YOUR ANSWER SHEET.

1. What is the Persian equivalent for the following sentence?
“You made Creation gratis”
ol & sl (g9, - oL e ahs g ol w gl
2. What is the meaning of ‘soul-creating’ in the following sentence
“In the name of the Lord, Soul-creating!”

o ola o FuS o)

ol 4855 pol &
a. great b. society . gheR d. community

4. What is the Persian equivalen

“When my feet were bare and | ha e means of procuring myself shoes.”

il el il 2 yalake o piaiilad Ceellaiw! 81

’ "5 5e, 2500 3,3 4 gpae g2 "
:! a(l ek

bYings suffering to one member
¢. Donot deserve to be called human
d. The others cannot stay at rest

6. What is the Persian equivalent for the following English translation of Moulavi’s poem?
“Through love bitter things seem sweet”
Sgu0 (3t g5 Vo s Cudmo 1 i Sy oyt s WG S 1.1
39 (58 GO (355 Cudee 100 g (e 3,0 Cume 5Tz
7. What is the meaning of ‘pious man’ in the following sentence?
“A local pigus man, taught me to wash my hands and face”
Loyl prlige 83,95 Jbw .o S 2
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8. What is the Persian equivalent for the following English verse?
“Better for us that our business be love”
g g 3 Lo o o pled o N (5 Iy 03R4t !
e 6 50 Lo oS gd (o . il ol ol & &5 & gloa .z
9. What is the meaning of ‘repentance’ in the following sentence?
“The rosary in hand, repentance on lips, and the heart full of sinful longings”
g 2D Camazo &
10. Choose the best Persian equivalent for the following English/trs

& @ ol s 3t B o 84 sy 393 sl )3 1, (lewy A1

o5 S Sl Ty of glaesSit 23 5 oblope il ke g
11. Which English word or phrase is equivalent fo 2 k) .

a. pleasant star
¢. lower aspect

Sd oo sty 1y ol Sl 12

"t Ol Ja sanied ',:wu& 5&513"
iy
b. Kno

edge is the stray camel of the believers.
¢. The best people are those who possess a good temperament
d. Man is the substance, but the world an accident
14. What is the best Persian equivalent for the underlined section?
“I became weary of instruction brutes and of holding a mirror in the way of the blind”

O g 2 RUY T 4 dole g jgef Olooliune Cont 33 1!
15. What is the Persian equivalent for the following English translation?
“He said that the covetous eye of the worldly man”
;6 SB L AS el b cds o 593 SLadl 3 a8 Faoaid o .1

U"")““rb&:“"ﬁé'bupéuf.c ,)%Ugaﬁg_ﬁagi'& :.-.—":‘S‘E
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16. What is the Persian equivalent of for the underlined word?
“I heard of a collector of revenues, who desolated the houses of the subjects.”

3,5 o0 i 2D P P 3,5 0 5UF 3,5 o0 wilys A
17. What is the meaning of men of piety in the following sentence?
“Men of piety receive bread to enjoy religious retirement”

olssalie olelt .z
18. Choose the best English translation for sad fag o35 s acd
. You are pure; we have not known you as it befits you
. You provided subsistence gratis
. O first and last of all Thy creatutes Thou
O Fashioner of all that doth exist

. To veil one’s countenance j e

0
19. Which one is the best English equivalent u%a B Ol 69,7

a

b. To be silent in the giving w
¢. To die as mineral and be lant
d Q Qwe’s tomb

gtion for rebound of goodness?
Olowdw Slo i 3L Lo Wiy S oo !

Aod yd Wb 934t T
22. Which word or phrase is closer in meaning to 81 ska?
a. Enduring the difficulty
b. Greater struggle
¢. Mighty power and capacity
d. Muslims’ discipline
23. What is the Persian equivalent for the given English translation?
“Give them self-control, weigh down their scales.”

Sleni 03 (S (2 opj ) FS Ol e 03 51 ol ol g a1
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S5y (g3gid 4 pas OLS Oljes 45 5 LIS Hbi e
24. What is the best transiation for yumis ,gls,s?
a. Bring to judgment b. Seek to the audience
c. call back to the snare d. confine the judge
25. Which of the following is the English equivalent for the following Persian verse?
" ! 3l Gt S Jol pall a5 L
. Be pleased with what the fates bestow
. Let me be slave to that man’s will
Come hinter! The house of hope is built on sand
. Then come, give wine into man’s life
26. What is the best equivalent for the underlined word?

a. inspiration b. revelation

. Which word or phrase is the correspo ﬁ

a. Substance h
c. appointed time ~fortune day
. All of the following Engli seO s are equivalent with the following Persian verse except.......

“ Sl yauo dod (gl dy w0 3"

tacle of all forms
ecome capable of all forms
is the tablet of Torah
29. Which of the following English sentences is equivalent with the Persian verse:
MBI (590 (g il (590 S
. Slitting the hair and not finding a thread.
. And could not soive the mystery of an atom.
It is not easy to accuse me of heresy

. I could not find but in my mind rose many suns
30. What is the Persian equivalent for underline section?

“Which is alike removed from excess and defect.”

w980 3 )&' o ..\Jg g bb Z .hg')w 9 bf,ﬁ! it JL\;&‘ 5 wdlae LAl
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B. TRANSLATE THE FOLLOWING TEXTS INTO PERSIAN. (1 POINT EACH)

in the name of Lord, soul-creating!

Wise One, speech-creating in the tongue!
Lord forgiving apt, to help,

Generous, fault-forgiving, excuse-accepting!

up a loud lamentation at dawn.
Two men took useless trouble and strove wit

)

gl 50§95 593 Cude 39a8 50 (8395 U Cumo 310
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38 e ol bads & el ol L g

Grammar-Translation Method = GTM Desuggestopedia = D

Direct Method = DM Community Language Learning = CLL
Audio-Lingual Method = ALM Total Physical Response = TPR

Silent Way = SW Communicative Language Teaching = CLT

CHOOSE THE BEST ITEM TO COMPLETE THE FOLLOWING SENTENCES.
Y. According to the principles of the................. the teacher is the authority in th

a. DM b. ALM c. GTM d. TPR
Y. Teachers using ................ believe that it is possible to find nat
target language words.

a. CLT b. SW c. DM
¥. In which method students translate a reading passage £
language?

a. SW b. GTM
EIn there is much less attentio

a. GTM b. CLT

¢ A teacher who uses Direct Met
choice because..............

b. choosing an ite ‘ iites grammar learning.
c. self-corregtiph\{agilitates language learning.
I

Zcts their errors indirectly.

1. There ciplesof the................ to deal with the feelings of the students.

a. GY b. CLL c. SW d. DM
V. According to the principles in .............. learning another language also involves learning how
speakers of that language live.

a.D b. DM c. SW d. ALM
A. In order to answer students’ questions, the teacher who uses .............. should demonstrate, not
explain or translate.

a. DM b. SW c. TPR d. CLL
4. According to the principles of ............... the more often something is repeated, the stronger the
habit and the greater the learning.

a. GTM b. DM c. ALM d. SW
& 51y amie A p0d flaes

L ol s g0 3T oM g 45 503 b g2 )5 2ols BT b 590l (sla dims 5 5l Ao il g 5

www.Sanjesh3.com -OV-AFOA-AY www.SanjeshT.com



— i EA g 1Vl Sl PR C NIRRTy

— il Vo i ghud (i) g3l e XAYVEY) Ll lal 5 b5~V Y AR eSOl 5 a2 g o/ gluaddd 455
ot e —— 331 eskikw! (1) S s lgaw (g gow o

Vo, Teachers who use ............. believe that students should ‘overlearn’, i.e. learn to answer
automatically without stopping to think.

a. CLT b. DM c. TPR d. ALM
YWln.ool the teacher is like an orchestra leader.

a. DM b. ALM c. SW d. CLL
VY. In a class where language is taught based on ............. , the teacher does a contrastiyve/analysis

of the target language and the students’ native language in order to locate the plagds
anticipates his students will have trouble.

a. ALM b. CLL c. TPR d. IP
VY. The view of language in ............ has been influenced by in s. Every language
is seen as having its own unigue system.

a. TPR b. SW c. ALM d. CLT
Y, In which of the following methods the teacher’ &sile e
a. CLL b. CLT
Yo, In which method students gain autonom
choices.

f 9 ages group cooperation?
Sy d. SW
anguage by exploring it and by making

a. ALM b. SW > d.D
Y1, In SW the teacher must be res o immediate learning needs, since ..............
a. teaching is subordinated to | ng.
b. students’ culture 1 ge/l] mn their own unique world view.
c. it is the exprags a’‘particular group of people.
d. the lea rtoire is expanded.
W.Ina udents need to learn............
a. to\pravde a bridge from the familiar to the unfamiliar.
b. to brild relationship with the shared identity.
c. to listen to themselves.
d. to generate the material.
YA, The originator of .............. believes that we set up psychological barriers to learning and we
fear that we will be unable to perform.
a. SW b. ALM c. TPR d.D
Y4, Those whouse ............. agree that learning facilitated in a cheerful environment.
a. CLL b.D c. TPR d.CLT
Y+ The goal of the teacher who uses ............. 1s to accelerate the learning process and to do this
more students’ mental powers must be tapped.
a.D b. CLL ¢.CLT d. ALM
0 31 Y dsie A-3e 093 ”
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Y. According to Desuggestopedia, which of the following is correct?
a. Learning involves transferring what one knows to new contexts.
b. The major challenge of foreign language teaching is getting students to overcome the habits
of their native language.
c. Fine art provides positive suggestions for students.
d. Positive reinforcement helps the students to develop correct habits.
YY. Which of the following is NOT correct in Desuggestopedia?
a. The evaluation is direct-point in nature.
b. In order to evaluate students’” knowledge, they are asked to use t
c. A teacher-made test would likely be more of an integrative f8s

d. Evaluation usually is conducted on students’ normal in-class
Y¥, The ............. Method takes its principles from the eneral Counseling-Learning

approach. 9

a. CL'T b. CLL d. TPR
YE means that teachers consider, niyVherr students’ intellect, but also have some
understanding of the relationship amowy \ sfddents) ) feelings, physical reactions, instinctive
protective reactions, and desire t¢{learn.

a. Whole person learning b. Task-based learning

c. Content-based learning d. Cooperative learning
A § ) S classess Sidéted feel more secure when they know the limits of an activity.

a. CLT c. CLL d. ALM
Y1, Building A pShip with and among students is very important in classes where the teacher
USeS ....oy.

a. Tcd approaches b. TPR c. SW d. CLL
YY. Teachefs who use ............. want their students to learn about their own learning, to take
increasing responsibility for it.

a. CLT b. CLL. ¢. TPR d.D
YA, Experience shows that in classes where ................ is used students can initially learn one
part of the language rapidly by moving their bodies.

a. TPR b. CLL c. CLT d.D
Y4, Teachers who use ............... believe in the importance of having their students enjoy their
experience in learning to communicate in a foreign language.

a.D b. CLT ¢. TPR d. CLL
8 Y dmie A ped Jluess
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¥+ Which of the following is NOT correct about TPR?
a. Spoken language should be emphasized over written language.
b. Language learning is more effective when it is fun.
¢. Students will begin to speak when they are ready.
d. Songs are usetul for freeing the speech muscles and evoking positive emotions.
¥Y. Which of the following is correct about TPR?
a. Students can create their own materials, which, in turn, can become texts for

being communicatively competent.
a. CLT b. CLL ¢. Tagk-
¥¥. According to ............... , the social context of

ZO

meaning to the utterances.

a. CLL b. TPR 1V dD
¥i. One of the basic assumptio LA Ys that by learning to communicate students will be
more motivated to study a foreig rage since they will feel they are learning to do something
useful with the language.

a. CLL R c. ALM d. CLT
Ye_ Judicious use of entts’ native language is permittedin ............

a. SW c. DM d. GT™

\“\. The SPEd {
with the\éasnitig of some other content, often academic subject matter.

a. content-based b. task-based ¢. participatory d. whole person
Woln oo instruction, language 1s learned most effectively when it is used as a mediom to
convey informational content of interest to the students.
a. CLL. b. task-based ¢. content-based d. CLT
AIn ...l , the teacher breaks down into smaller steps the logical thinking process necessary
to complete the task.
a. content-based b. CLT ¢. participatory d. task~based
Y4, According to the principles of ............... approach, the teacher supplies the correct target
form by reformulating or recasting what the students have said.
a. CLL b. task-based ¢. content-based d. CLT
8 31 ¥ do MR 2y Sl
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teoIn approach the content is different. It is not the content of subject matter texts, but
rather content that is based on issues of concern to students.

a. participatory b. task-based

¢. multiple intelligences d. content-based
€Y. In classes based on ............. , the curriculum is not a predetermined product, but the result of
an ongoing context-specific problem-posing process.

a. task-based approach b. content-based approach

c. participatory approach d. cooperative learning
€Y. A goal of the ............. Approach is for students to be evalu

.“"-'t theit\owh I2arning and to

increasingly direct it themselves. o
a. task-based b. content-based
¢. cooperative learning d. participator
€Y. According to the originators of ............, inﬂ)rd qaXunize the students’ potential and

contribute to their autonomy, language learners needgéd
a. cooperative learning
c. task-based approach
4 In , the teachers jofais y4oteach language, but to teach learning.
a. learning strategies training b. cooperative learning
c. multiple intelligences d. participatory approach
£2_ The fact that makes. L\ ..Q...distinctive is the way that students and teachers work together
] p students collaborative or social skills,
b. learning strategies training

that is important. Tedcl
a. multiple intelly
c. coierative Jéarning d. content-based approach

..... students are encouraged to think in terms of ‘positive interdependence,” which

means thatthe students are not thinking competitively and individualistically.
a. content-based approach b. task-based approach
c. learning strategies training d. cooperative learning
£V, Teachers who recognize ................ of their students acknowledge that students bring with
them specific and unique strengths, which are often not taken into account in classroom situations.
a. communicative competences b. multiple intelligences
c. individual accountability d. contributions
£A, In almost all methods, where ............ is included, it may be seen as a fifth skill.
a. culture b. fluency C. correctness d. uniqueness
8 3 0 doiue AR 093 Thoss
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CHOOSE THE BEST ANSWER AND MARK IT ON YOUR ANSWER SHEET.
Y, Agroup of several comparable tests is called a(n)

a. quiz b. examination c. battery d. rating
Y. Which test is used for the purposes of awarding certification of competence when thevandidate
has satisfied the minimum requirements?

a. proficiency b. progress c. placement
Y. inlanguage teaching programs, prognostic evaluation relates to

a. proficiency / knowledge

¢. achievement / proficiency
£
test is called a(n)

a. placement b. readiness

As multiple-choice item

a. is easy to prepare.

b. organization or integration
d. recalling or communication
nt unit of a test is called a (n)
b. subtest c. item d. choice

b, Ve c. A

Discrimination index refers to the extent to which an item distinguishes students from

a. fast / slow b. subjective / objective  c. better / poorer  d. more active / less active
Y v. Which one is used as a measure of central tendency?
a. variance b. standard deviation C. range d. mode

VY. What is the range of these scores? ARRAR AR AR R DR ARE AR AR
a vy R Y d. Vv

B 3\ A AR pg Jlusesi
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. The median of the scores presented in question YV is ...........
3. \Ye b V¥ c. VY d. Y¥.oe

'Y, When the mean is set at +.+ and the standard deviation at Y, the resulting score is called a ......

a. z-score b. T-score €. raw score d. corrected score
Vi, Traditionally, the principal use of criterion-referenced measurement has been in ............ tests.
a. placement b. aptitude c. mastery d. proficiency

Yo, Which statement is true?
a. The correlation coefficient varies from * to Y.
b. Low correlation is not always suggestive of lack of relationship

he-other types of validity.
d. face

a. construct b. content

VY. Scorer reliability is nearly perfect in the case op .

a. composition b. completion c. short answer d. multiple-choice
YA, Considering costs and ease of administering-arg\nelated to the........... that is an attribute of a
good test.

a. validity b. reliabi
V4, Which statement is trye

c. relevance d. efficiency

teribute of a good test) is also called content validity

S, areclassified into two groups: norm referenced and criterion referenced, based on

b. interpretation C. purpose d. form
YV, If the standard deviation of a test is ¥ and its reliability is .-.Y1, the standard error of

measurement (SEM) will equal to .......
a V.t b, v Af c. V.1 d. V.Y

a. scoring

YY. In which test the weak student has more chance to answer correctly by guessing?
a. completion b. true-false C. essay d. multiple-choice

8 Y dsmie M-8 pgd o
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Y¥. What is the percentage of scores that fall between the mean and two standard deviations

above it in a normal distribution?

a. about tVY percent b. about Y° percent
c. about Y { percent d. about ¢ percent
Y¢, The v approach assesses language ability through different subtests by means of

independent short multiple choice items.

a. integrative b. pragmatic

c. functional-notional d. discrete-point
Yo, Dictation and noise tests are probably good measures of overall,

a. reading b. writing c. speaking
Y. What is the main defect in the following item?

A word used to describe a noun is called an .........

d. verb
gives clue to the correct answer.
es are not of similar length.

a. adjective b. conjunction
a. The stem is too wordy.
c. The choices are not consistent.

YV, What is the main defect in the followi 3 "
]

If the pressure of a certain dmoun abis held constant, what will happen if its volume is
increased?
he will decrease.

t
)

gas will increase.

b. The distracters are not plausible.
d. It is too wordy.

examinee hears: examinee reads:

deep A. Jeep
B. Sheep
C. Keep
D. Deep
a. lack of context b. use of wrong English

¢. poor alternatives d. being uneconomical

8 Y arie M-8 ped o
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Y4. In a speaking test, an examinee hears "change this sentence into future”. What is this item

referred to as?
a. retelling b. explaining c. transforming d. role playing
¥+, The most face valid, extremely reliable, and reasonably practical measure of speaking ability is

a. oral interview b. retelling
c. role playing d. talking about pictures

1, The close procedure used in testing reading is based on the assumption tha

............

a. passive b. active c. receptive d. un
Y'Y, Analytic marking of compositions has several advantages. most p@tant isthatitis.........
a. practical b. easier ¢. diagnos . economical

Y, Which statement is true?
a. Impressionistic marking is slow and time cop
b. In analytic marking, compositions are mat rording to a scale.
c. Holistic marking is more useful than/analky
d. For large number of examjees, , é
i, Which technique is used to tée nriting ability of EFL learners who have a very limited ability

in the language? 9
a. recognizing error

arking should be used.

b. organizing a paragraph
d. transforming passages

/4 grammatical system.
ng b. internalizing C. recognizing d. communicating
Y. Which statement is true about a dictation test?

a. It is a test of spelling.

b. It is a measure of the ability to process meaning.

c. It is an example of discrete- point test.

d. The passage of the dictation should be copy of the materials in the students' texts.
YV. Which statement is true about pragmatic tests?
a. They have a high reliability. b. They are difficult to construct.
c¢. Their validity is high. d. They don't test the ability to communicate.

b 51 F amiw AR pgd Jays
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YA, At the advanced level, vocabulary tests deal with the lexicon of the ........... language.

a. literary b. dialect c. spoken d. written
Y. Tasks are arranged uniformly in a ........test, and a ........ test is for the purpose of determining
how well the testees can perform.

a. speed / speed b. power / speed c. power / power d.speed / power

£+, Sometimes the content of a test or its answers may be obtained by the testees priorto the
administration of the test. In this case, Testee's high score will be due to ..........
b. ceiling effect

a. coaching effect c. test compromise

8 310 amie A8 pgd Jluas
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PART ONE: CHOOSE THE BEST RESPONSE. (ALL .Y0 POINTS)

V. Look carefully. See what |

a) am I doing?
¢) lam doing

Y. The phone

a) is ringing

b) has rung
C) rang

d) has been ringing
v. Anzaly

d) is lying

(do) my homewo, errthg frontdo (bang) open.

b) was doing / banged
d) did / was banging

a) was doing / was banging
¢) did / banged

e mistake several times. You should think about it seriously.
¢) make d) have made

cdt Sally. She unpleasant today.

b) has been c) 1s being d) will be

. Before Rahmat was employed in this school, 1 here for five years.
a) was teaching

b) have been teaching
¢} taught

d) had been teaching
A. When I reached home last night, I went to

kitchen and found oven is in a
mess.

a) a/the b O/ an ¢) O/the d) the / the

5 Y axde
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4. Only two students in this class are from England. are from some different countries.

a) Another students b} The others
¢) Others students d) Others

v+. The car didn’t move. [ leave it there and go to the town to ask for help.

a) have to b) should ¢)had to d) must

v\, Patient: I have a bad backache. I carried a lot of loads recently. 1

Doctor: You’ll be Ok. Don’t worry.
a) must not do b) shouldn’t do )
¢) must not have done d) shouldn’t have d

\Y. When I called her, she 1 ut she didn’t answer.
ep

a} must be sleeping ‘
¢y must have slept st have been sleeping

. As a child, Mary .......s r Grdpoy for weeks. Now she doesn’t leave her home one day.

a) was supposed (o b) used to
¢} was used to d) might
f~writing and drawing throughout history.

b) was used
d) has been using

claimed to have seen a strange creature in his bedroom.

a) frightening child b) child frightening
¢) frightened child d) child frightened

PART TWQO: WHICH OF THE UNDERLINED PARTS IS GRAMMATICALLY INCORRECT? au - points)

v1. During I was watching TV last night; my uncle gave us a call to invite us for dinner.

a b C d
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w. Some woman work out to help their family with money. This is becoming a more common practice in future.
a b c d

va. By Y+ Y+ I think people will begin moving to outer space in search of more land to build houses.
a b c d

v4. Somebody stealed my bag. It is missing and I can’t find it anywhere.
a b C d

C d

Y. The staff in this\c s going to protest against Jow payment by a sit-in demonstration and a strike.
b C d

vo. I saw sore ducks in the pond another day. I think they belong to a neighbor. They moved into
a b
water one after another without looking at each other.
C d

v1. Have vou informed of the new book that the teacher asked the class to study before the examination?
a b c d

vv. Susan seemed happily. She must have won some prize at school. Her teacher thinks that she is highly talented.
a b C d

M-Ae pgd Jluey
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vA. Who saw you when you got into the garden? Did anybody notice you? Whom you see?
a b v

Was there anybody there?
d

v4. | hope you take good care of your health. A good diet consists in different kinds of food. You

a b C

cannot substitute one kind of vitamin for another kind.
d

v+. Don’t you have no money to lend me? I just need a fittle, not much.
a b c d

U

PART C. FILL IN THE BLANKS WITH APPROPRIATE WORDS) HINT IN PARENTHESES,

{ALL .Yo POINTS)

ou going anywhere tomorrow morning?

. but I think I --- (study) then. I am having a grammar test soon.
. 1 have some money to buy a few

. The class was too large. So it
. The (expect) event may occur sooner or later.

. I tried to study (adverb)because everyone was sleeping.

£+, Nothing went wrong when I was gone, --7 (tag question)

8 3 F axdue
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PART D. COMPLETE THE FOLLOWING SENTENCES: (ALL .¢ POINTS)

. Since the beginning of this year,

. The TV program 1s really boring. Would you mind

. It 1s raining so hard outside. You don’t have to
. Before 1 find a job, I’d rather

. Where is Reza? And what is he doing. (answer in one sentence)

. Some school subjects such as ---
. Are you interested in

. We had already finished cooking the lunch,
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V. “Sheath thy impatience.”
Which of the following statements is TRUE about the above line?
It is an implicit simile between impatience and sword.
The tenor is named but the vehicle is implied.
Vehicle is named but the tenor is implied.
It is an explicit metaphor in which impatience is compared to sword.
Y. Metaphors by Sylvia Plath conveys....
a. the consequences of getting old and losing her beauty.
b. The emotional complexities related to nine months of pre
c¢. series of descriptive metaphor about a hound and its

d. full explanation of metaphor and its applications.

¥. Tell me not, in mournful numbers, Life is but a@ _

The literary technique used in the above lines
a. 1mplicit metaphor b,/ iforkic metaphor
c. explicit metaphor d. Homeric metaphor

£, [Addressing the people of Rome] ¥ou block, you stone, You worse than senseless thing!

b. ironic metaphor

. dehgminizre d. mixed metaphor
°, “Th ¢t is as clear as mud” is a good example of ... .

a. illustrative metaphor b. ironic metaphor

¢. dehumanizing metaphor d. Homeric metaphor
1. Rewording an unpleasant saying into a more pleasing one is called

a. interrogative metaphor b. sustained metaphor

¢. metaphoric euphemism d. mixed metaphor
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Y. Byron’s Childe Harold’s Pilgrimage describes.................. .
a. the adventure of a young man who is shipwrecked and rescued by the daughter of the pirate.
b. the story of Sultan and the escape to Russian army.
c. the truthful nature of the Persians and the principle of Zoroastrianism
d. how the pilgrim tired of his sinful life finds distraction by travel

A, “Marriage is one long conversation, chequered by disputes.” is an example of
a. metaphoric aphorism b. metaphoric euphemism
¢. mixed metaphor d. 1nterrogative metaphor

1. And tis my faith that every flower / Enjoys the air it breathes.

The above lines are an example of
a. personification
¢. metaphor

Y+, Smile, O voluptuous, cool-breath’d earth,

There is............ in the above 1j
a. personification

c. concett d. apostrophe

VY, “When the evening\is, %Spke gt/i) out against the sky”/ to a patient etherized upon a table;

b. metaphysical conceit
d. ironic metaphor
VY. Which of the following statements is TRUE about “Rip Van Winkle”?
a. It is political allegory in a form of a dream about the revolution in Russia.
b. Itis an allegory of idea about the Furopean sentiment towards the new society in America.
c¢. Itis a political allegory in which Rip depicts the society of America as seen by England.
d. It is an allegory of Idea that shows only good deeds and confessions redeeming human soul.
VY. The bible is a rich source of parables. If a priest or preacher tells a similar story in the sermons,
the parable is called a(n) ................... .
a. exemplum b. Anecdote

c. fable d. beast fable
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Ve, Byzantium in W.B. Yeats’ poetryisa .......cooevieininnn. .
a. private symbol of art b. private symbol of quest motif

¢. myth about the holy Grail d. Conventional symbol of love

Yo, Mr. Murdstone, a cruel character in Dickens” novel David Copperfield, is an example of ....... .

a. good name b. misname
¢. irony d. aptronym

V1. The falling ominous misfortune on Tess in Hardy’s Tess of the D’ Urbervilles js 4
a. Socratic irony b. 1ronic logic

€. COsmic 1rony

a. irony of situation
¢. sustained irony
YA, When the audience knows more than whg
expected.
a. irony of origin b. dramatic irony
¢. logic irony d. boomerang irony
. Which of the follox iéglents are WRONG about parody?

a e of intertextuality because it has a relationship with other texts.

d. Joyce Carol uses the term “literary infidelity to describe parody.
. In drama, parody is called a(n) ..................... .

a. burlesque b. spoof ¢. aphorism d. skit
. “For God, for Country and for me,” 1s an example of

a. decorum b. bathos c. anadiplosis d. palindrome
. “You could not see a cloud, because/ No cloud was in the sky” 1s an example of.....

a. flip-flap b. anachronism

C. acrostics d. (ruism
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. “And death shall be no more, / Death, thou shalt die” is a good example of.......
a. antithesis b. oxymoron

¢. paradox d. trmism

. Here, thou, great Anna!
Whom three realms obey
Dost sometimes counsel take- and sometimes tea.
What is the technique used in the above lines?
a. pun b. bathos C. sarcasm
. Using double negative for the purpose of understanding a fact {8
a. oxymoron

c. litotes
Y.

a. pun g ysemantle
¢. portmanteau . antithesis
YV, What is the technique used in bove line?

%at’s marred.”

b. asteismus

. hp \‘ d. Homonymic pun
@,r your eyes / And sigh with boredom,” is a good example of ...................... .

a. mirror words b. chiasmus

¢. palindrome d. anastrophe

Y4, The deliberate repetition of identical words for emphasizing on the absurdity of conventional

speech is called.....
a. anaphora b. palilogy
c. anadiplosis . epistrophe
¥+, “Pester” and “fester” are a good example of

a. half thyme . eye rhyme

¢. masculine rhyme . feminine
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If one of them suggested sowing a bigger acreage of barley, the other was certain to demand a
bigger acreage of oats.
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I have a friend who was at schoo! with Wilson.
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I feel it my duty to pass on te you such wisdom as I have acquired.
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He rested against the wall.
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The boy saw that the old man was breathing.
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o1y this plan, Kurdish State in the north and a Shi ‘a dominated State in the south
would sandwich a Sunni-enclave in the middle
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Man is also concerned with his fellow humans.
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Each side of the market looks after its own interests.
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development in mal
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But we did not stay up very late.
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All things testify that He is God.
AR pa (sladiel Shs g oA 9S LS g (sabe 3T .00 sidia oo A
‘:Mfﬁﬁoﬁu&f&a&ngfﬁ@ﬁwﬂwm.‘“
Arthur Symons, the outstanding poet-critic of the 1980s, was a frequenter of the club,
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TRANS LATE THE EOLLOWING INTO PERSIAN (1 point each)

1. “Stylistic meaning is that which a piece of language conveys about the social circumstances of
its use. We ‘decode’ the stylistic meaning of a text through our recognition of different
dimensions and levels within the same language.”

. It means that operators and service providers can offer tailor-
and users, in turn, benefit from a greater range of products without prohibitjxs

. When the generals in Belgrade casually dispatched a col g
weeks ago, they figured on an easy victory. They were sh thousands of their men

were surrounded and captured.

4. Specify the head-words and their pre- and po rs in the following Persian noun
groups. (1 point)

Sul ga 03._\3! ..\3.133 i
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1. Write a letter of congratulations to a friend who has just got married. (Between 50 and 75

words)

for your company. (Between 75 and 100 words) 5 points

0
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FIND THE BEST CHOICE TO FILL IN THE GAPS AND MARK THEM IN YOUR ANSWER SHEETS.

V. Mark the TRUE statement about Roman de la Rose.

a. It was written by Sir Thomas Wyatt, b. The first part of it is an allegory.
c. It tells the progress of a murder. d. It was written by Geoffrey Chauce
Y. Chaucer's ............... in the Canterbury Tales is an example of e basic ﬂ; 3%

g dtt% be.

a. Prioress b. Monk ¢. Wife of Bat Pardoner

places what people are, in opposition to what they think they

Y. Which one of the following works is Not a populir
a. Lord Randall b. Barbara Allan

£, The first Elizabethan sonnet cycle is ....
a. Astrophel and Stella rom Eloisa to Abelard

c. Mirror for Magistrates d. Arcadia

¢, Which one of the follg »Arks 1s a marriage poem?

. Faerie Queene d. Lycidas

1. The themg ' rld Queeneis ....oooevvvinnnn. .,
a. arm§ 4 ‘u the m: b. fierce warriors and faithful loves
c. traditional wars d. king's clashes for power

Y. Which one of the following works is not written by Shakespeare?

a. Othello b. The Hamlet
c. King Lear d. A Midsummer Night's Dream
A. John Donne and his followers are knownas ............ poets.
a. Reformist b. Humanists ¢. Metaphysical d. Nationalist
Lﬁfoﬁlm)-r .L‘}J|5.w 43 gad Sk > &nl; L)JMJT L,a.u)j.oT L_gLQ VT ;\?_;l‘d:a@ .Q};‘)g

www.Sanjesh3.com -OV-AFOA-AY www.SanjeshT.com



il 0t g s Dlnd VeSOl Sl 305 3 g e 33 0l
— il A g {BiB3) cige] e (VAT AYD) T sl 5 oy 2egwyd o [ lanod 42l

331 astited (V) S iljon s

1. "My face in thine eye, thine in mine appears,
And true plain plain hearts do in the faces rest;"
The above lines are taken from John Donne's ................
a. The Undertaking b. The Canonization
c. Love's Alchemy d. The Good Morrow
V. "Come live with me and be my love,

And we will some new pleasure prove,”

The above lines are taken from John Donne's ................
a. ** The Curse” b. “The Flea” c. “The Bait”
VY. Ben Jonson's first great play was ................ )
a. Everyman in His Humor
c. Sejanus
VY. George Herbert's chief delighfs Werg {.\. M2 oL

a. modern forms b. traditional forms

C. sonnets O d. traditional temples
Y Y. Which one of the{Tollawine poems by George Herbert is not a shaped verse?
a. “The Altas b. “The Flower” ¢. “The Pilgrimage” d. “Man”

Y&, Which ong)pt the following pairs do not match?

a. “The'$wan of Usk” — Henry Vaughan b. Volpone — John Donne

. The Temple — George Herbert d. “To his Coy Mistress™ — Marvel
Ve, Milton's Samson Agonistesisa ................
a. dramatic monologue b. great epic
c. blank verse work d. closet tragedy
Y3, "To justify the ways of God to man" was the moral aimof ..............
a. Shakespeare b. Donne c¢. Milton d. Francis Bacon
oI ST 5T ol s e 505 S 2,5 ol T 5 5T sl i 51 Lo Q’h‘}g
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YV, Many of the British writers of the YA™ ¢. came from .............
a. rural areas b. country sides c. Ireland and Scotland  d. Rome and Greece
YA, The Restoration period begins with the return of Charles 11 to the English Throne and ends in
VYoo with the deathof .............
a. John Bunyan b. Swift c. Johnson d. Dryden
V4. The restoration of the monarchy meant the restoration of ...............

a. The Established Church b. Protestant Dissenters

¢. Roman Catholics d. Republicanism

a. the Whigs b. the Tories
Y. Tom Jones is a great YA™. ¢. novel that was writ
a. Charles Swinburne
¢. Samuel Richardson

YY. The greatest literary expression

a. Pilgrim's Progress O b. paradise regained

c. Paradise Lost d. Samson Agonistes

YY. The liter: at advocated an absolute government as the most efficacious check to the

a. EssayConcerning Human Understanding b. Leviathan
c. The Task d. The Campaign
Y¢, Originating in ancient Greece, ............ had found its most persuasive recent statement in the

essays of Michel de Montaigne.

a. Methodism b. Anglicanism c. skepticism d. humanism
Yo, Good sense, restraint and reasonableness are the characteristics of ............
a. Classicism b. Romanticism ¢. Age of Reason d. Neo-classicism
Lfol%&ﬁlmﬂ Yl gss 45 303 Sl 33 5 2ola BT b 590l (sla dim QEI&AL@? .‘_}J})z'
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Y3, Man is naturally good and he finds his highest happiness in the exercise of virtue and
benevolence. This view of human nature is described as ........
a. reasonable b. simplistic

¢. violent extremism d. sentimental

YV The great religious revival of the YA™ ¢. led by John Wesley was ..............
a. Tractarianism b. Naturalism c¢. Leviathanism d. Methodism

YA, In the Neoclassical period the writers were influenced by the arifsts df the

Roman Emperor, Augustus Caesar; hence itis called ......... W)
a. Caeserism b. Augustan age c. Civil war age i _Aacient age
Y4, Johnson in his................. says that "the poeiﬁa to not the individual but the species
a. Essay on Man '
c. Rambler AW anityof the Human Wishes
¥+, Low style, natural and unadofed laf 5 g jate for ...........
a. comedy b. tragedy C. epic d. criticism

Y'Y, Dryden defines ....... 1.9 propriety of thoughts and words; or, in other terms, thought and

c. wit d. nature

. "‘ ONG statement about "closed” heroic couplets.
a. A tettamieter couplet which is complete 1n itself.

b. It 1s closed by a semicolon, period or question mark.

c. Using parallelism, balance and ... it is possible to attain rhetorical effects.
d. The second line of the couplet might be made closely parallel to the first.
Y'Y, The conflict between love and honor in the hearts of impossibly valorous heroes and impossibly

high minded and attractive ladies was the theme of Restoration ................

a. romantic novels  b. lyrical poems ¢. criticism d. heroic plays
il S50 5T oW g 45 505 S5 (5 ol T 5 50T (5l Asams QEIL&‘? «_j,\"“*“‘, 53
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¥4 Which one of the following works is John Dryden’s masterpiece in serious drama written in blank

verse?
a. Love for Love b. All for Love
c. The Task d. The Rape of the Lock

Yo, Like his cousin satire, the Restoration comedy is concerned with
a. the criticism of nature as harsh and indifferent.

b. mellifluous nature as we see out there.

c. the criticism of man as a moral and social being.

d. socking side of the human experience in this world.

a. Thomas Shadwell . Wi Cengreve
c. Sir George Etherege AYWilliam\Wycherley
¥V. The first magazine in the moglern sepse\iSnz. ..ol

a. Monthly Review b. Rambler and Idler

c. Quarterly Review O d. Gentleman's magazine

a. sentiments b. serious comedy

c. herod§ §opedy d. comedy of humor

¥4, "His styte was well suited to his thoughts. There is no court to passion. It instructs but does not
persuade.” These are Johnson's comments on ......... 's style.
a. Dryden b. Swift
¢. his biographer d. Milton

v . The ....c.ceee. school of poetry is less concerned with religion than with horror and decay.
a. Angry Young Men's b. Graveyard
¢. Methodist d. Restoration

W ST 5T ol s a5 505 s 2,5 ol T 5 5T sl i 51 Lo é’\‘;‘)’g
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£Y. Horace Walpole's Castle of Otranto as well as William Beckford's Vathek are examples of
cereeeea...LStOTIES.
a. gothic b. hotror c. thrilling d. romance

£Y. Samuel Richardson mostly wrote his novels in the fromof ..............
a. gothic b. heroic c. epistolary d. dialogues

LY, Trsitram Shandy is a novel that was written by .....................

a. Tobias Smollet b. Samuel Richardson

c. Oliver Goldsmith d. Laurence Stern:
¢4, Turncoat was a term that was used to describe ............, 5
a. Ohiver Goldsmith
c. John Dryden
£o John Drydenin ................ manages his fial atteck on the villain of the Absalom and Achitophel.
a. The Medal

¢. Religio Laici d. The Hind and the Panther

€3, According to .......... .. Jo fyden is the "father of English criticism”.
a. Samuel Johnson b. John Milton
c. Alexander PO d. Jonathan Swift

£¥Y. The hag ’ graphor of The Pilgrim's Progressis ..................

a. man el creature b. life is a journey
¢. to make the best of time d. death is not what to be afraid of
LA, Grace Abounding to the Chief of the Sinners is a spiritual ........... ... of John Bunyan.
a. autobiography b. Biography ¢. Criticism d. anthology
€9, Which one of the following works by Daniel Defoe is not a fictitious autobiography of adventure?
a. The Shortest Way with the Dissenters b. Moll Flanders
¢. Roxana d. Captain Singleton

o+ Defoe's novels use all the following techniques EXCEPT .........

a. first person narrator b. swiftness and suspense of the action
c. matter of fact style d. third person narrative method
Qﬁoéﬁﬁlm)T Yl gss 45 303 Sl 33 5 2ola BT b 590l (sla dim ?ET&G:U@ .‘_j‘b)z'
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Y. "The concept of stories,” according to , "must have been invented as soon as human
whoops and squeals turned into language”.

a. Lucke b. Hobbes c. Poe d. Chekov
A is an ancient from of short story. It was popular in the Roman Empire era and W3
regarded as part of a parable.

a. Exempla b. Anecdote c. Parables
Y. It was "the that was the preferred type of fictional
publisher".

a. Novella b. epic C. seri

, the story reaches its highest exci

a. Crisis gnComplications d. Denouement

. The crime stories are very old b madern detective story has its origins in the writings of

b. Anton Chekhov

d. Hercule Poirot

b. gathering stones
c. helping the fathers d. watching movies
Y. Which one of the following statements is WRONG about the women in “The Lottery”?
a. They are clad in faded house dresses and sweaters.
b. Their clothes are discolored and withered.
c. They are associated with gossip.

d. They are the powertul gender.

TR 1> Jooes

£l A
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A."A Hunger Artist” is a(n) of the misunderstood artist, whose vision of transcendence
and artistic excellence 1s rejected or 1ignored by the public”.
a. parody b. projection c. allegory d. exemplum
is viewed “as a depiction of the isolation and alienation of the modern
a. “The Modern Artist” b. “The Hunger Artist”
¢. “The Lottery” d. “The Rocking-Horse Winner”
Y+, Which one of the following statements is TRUE about the artist/

d. He simply found any food he liked.

VY. According to Beauchamp “The Rocking-!

a. There must be more land b. There must be less insecurity

¢. There must be more money d. There must be more morality

$ 31 Y dmiee M-Ae pgd Jluagi
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Y¥. Why is Fortunato’s clown or jester’s costume appropriate in “The Cask of Amontillado™?
a. Because he is going to take revenge on Montresor.
b. Because it is the time of the carnival and Fortunato was a clown.
¢. Because nobody was at home and he was free to act like a clown.
d. Because it was carnival season and Montresor makes a fool out of him.
V¢, Mark the TRUE statements (about the characters or story of “The Cask of A
a. Montresor is coolly rational on the surface but raging inside.

b. The story is told in the first person by Montresor.

c. The story is often regarded as a detective tale.

d. The story begins at midnight in London. ) D

Yo Mark the WRONG statement about “The Fall of tHouse of Usher”.
a. It is a gothic fiction.

b. The twin, and not the narrat

c¢. The grandeur of mankind against powers that are too small for human
beings to tolerate.
d. How men and women can share their abilities to get beyond the powers that

are too large for human beings to tolerate.

F 3T douir A=A > Jlua
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VY. What is the title of Usher's improvised poem?
a. “The Haunted House” b. “The Haunted Palace”
c. “Tristan and Iseult” d. “Romeo and Juliet”
VA, What is Daru’s dilemma in “The Guest™?
a. either to kill the Arab or to let the Police punish him.
b. either to hand the Arab to the Police or to his clan.
c. either to punish the Arab himself or to stone him to death.
d. either to hand the Arab prisoner over to the police or to se
V2. Why didn’t the Arab escape when he had the chance to?
a. Because he was afraid of Daru.
b. Because he would be eaten by the wolves.

c. Because he thought it was a cowardly agt

a. the desert b. the human nostalgia

c. absolute mean d. the irrational

‘5 taofdiman Brown™ is a short story that is written by

a. JamesJoyce b. Nathaniel Hawthorne
c. Edgar Allan Poe d. D.H. Lawrence

YY. What does Young Goodman Brown experience in the Salem woods?
a. his other self, his inner demon b. the other face of the world

c. his predecessor and relative d. to transcend the limitation of the world

£ 31 F doine M-Ae pgd Jhuayi
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YY. In his jourpey to the Salem woods Goodman Brown meets the respected people of his
community and this shows that
a. Brown is like all the other people of the town.
b. Brown’s wife i.e., Faith has lost her faith.
c. Brown’s faith in human freedom is completely eradicated.
d. Brown did not pay attention to what he has lost.
Y< How did Goodman Brown know Goody Cloyse? --She was
a. the pastor's wife
b. his grandmother
¢. his catechism teacher
d. his best friend growing up
Yo “Clay” is narrated by
a. Maria Brdmniscient narrator
¢. dramatic narrator d. limited third person narrator
ich the makers ...l
b. hid a ring or coin as a surprise
d. make use of neither sugar nor flour
fitle of the song that Maria sang at the party?
a. 1 Dreduort of a Bloody Life b. I Dreamt of That Summer Night
¢. I Dreamt That I Dwelt d. I Dreamt That I'd Survive

£ 310 dmie MR 293 Jlusass
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Quotations:

YA, “The morning of June YY" was clear and sunny, with the fresh warmth of a full-summer day;

the flowers were blossoming profusely and the grass was richly green.” These are the beginning

a. “The lottery” b. “The Cask of Amontillado™
¢. ““ Rocking Horse Winner” d. *The Fall of the House of Usher”

Y4, During the whole of a dull, dark, and soundless day in the autumf

a. “The Cask of Amontillado”
¢. “The Clay”

b. “Rocking Horse Winner”

use of Usher” d. “The Guest”

$ NP amine M- pgd Jusass
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Direction: Each of the questions or incomplete statements below is followed by four suggested
answers or completions. Select the one that is best in each case and then completely fill in the
corresponding circle on the answer sheet.

> READ THE FOLLOWING POEM BY EDWIN ARLINGTON ROBINSON {1869—1931) AND THEN ANSWER THE

QUESTIONS 1-6.
RICHARD CORY

Whenever Richard Cory went down town,

We people on the pavement looked at him:

He was a gentleman from sole to crown,

Clean favored, and imperially stim.

And he was always quietly arrayed,

And he was always human when he talked;

But still he fluttered pulses when he said, )

"Good-morning,” and he glittered when he walke ch

And he was rich—yes, richer than a king

And admirably schooled in ev

in fine, we thought that he Was evd

To make us wish that we wer _

So on we worked, and wajted e light,

23 ,@’wl cursed the bread:
i summer night,
abullet through his head.

1. isithe g scheme of the poem?

(
{
(
(D) ABCD

2. Who is telling the story?

{A} Richard Cory

{B} The people of the town

{C) Crown

(D) He

3. How do the people feel about Cory?

(A} They admire him.

(B) They envy him.

(C) They wish his death.

{D) They admire him and at the same time envy him.
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4. Whatis not a theme of the poem?

(A} You can’t judge people by what they have, but only by what they are.

{B) Appearances are deceiving—or, put another way, you can’t tell a book by its cover.
{(C) Richard Cory is a deeply disturbed, but very happy man,

(D} Money can’t buy happiness.

5. In fine, in the poem, means

(A} dressed in fine but conservative attire

(B} not condescending

{C) shiny buttons

(D) in summary, in short
6. What figure of speech is dominant in the following line?
And he was rich—yes, richer than a king—
A) Synecdoche
B} Overstatement
)

(
(
(C
{

Simile
D} Zeugma
O

» READ THE FOLLOWING POEM y ANSWER THE OBESTIONS 7-11.

It is not growing like a tree

dJ Crd
m % bald, and sere:

e plant and flower of !;ght.
In small proportions we just beauties see;
And in short measures, life may perfect be.
7. Which figure of speech is used in line 37
(A} simile
(B} irony
(C) overstatement
(D) synecdoche
8. What is the main idea of the above poem?
A) The guality and usefulness of one’s life should be given credit.
B} Life has no meaning if it is full of care.
C) Beautiful flowers are as important as fruitiess trees.
D} Man should stand and stare at beauties at all times.

(
(
(
(
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9. Whatis the rhetorical device used in the first line?
(A) Parody
(B} Simile
{C) Onomatopoeia
(D) Metaphor
10. One of the following items is the gist of lines 5, 6, 7 of the above poem ang that is
item .
(A) The fall and dying is the eventual fair of a night.
(B} The cry of a day is for the falling of 'a lily'.
{C) Aday of alily comes to its end at night in the winter.
(D) A nightlife of a lily, even very brief, is more meaningful, reve igharid beautiful than the
fong-lived useless things.
11. What is the meaning of line 9 of the above poem?
(A} We see beauty in just small amounts. )
B} We may see perfect beauty in small things.

(
{C) Life has no meaning if it is full of care.
(D} Beautiful flowers are as important as frulthe

» READ THE FOLLOWING POEM

Gave thee life
By the streap

Making all the vales rejoice!

Little Lamb who made thee

Dost thou know who made thee?

Little Lamb V'l tell thee,

Little Lamb {'ll tell thee!

He is called by thy name,

For he calls himseif a Lamb:

He is meek & he is mild,

He became a little child:

| 3 child & thou a lamb,

We are called by his name.

Little Lamb God bless thee.

Little Lamb God bless thee.
Lape kil ansiges 5T oMl g &5 903 S 32 05 2ols T b 5 90T (sl aimy Aiheshinpd clossd
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12. Which figure of speech is used in the first line?
(A) apostrophe

{B) simile

(C) irony

{D) metaphor

13. The image of the lamb, in the poem, is associated with
{A) God

(B) Holy Spirit

{C) Jesus

(D) Natural creatures

14, “The Lamb”, in the poem, represents

(A) darker forces

(B) a meek virtue

{C} naive hopes

(D) adulthood

» POETRY THEORY. QUESTIONS 15-21

15. Which option is not conside
(A) the practical

(B) the literary

(C) the hortatory

(D) Alliteration
17. What is the function and purpose of literature?
{(A) To communicate significant experience
(B) To narrate plausible facts
(C) The creative use of ordinary language
{D) To teach ordinary human beings
18. According to your textbook, poetry is as as language and almost as
(A) Communicative/rhymed
B} intensive/hortatory
C) Universal/ancient
D) Ordinary/poetic

(
(
(
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19. What are the two false approaches to poetry?
(A} Always looking for a lesson and beauty in it

{B) Broadening and deepening our experiences through it
{C) Senses, emotions, and imagination

{D) Sensitivity, range, and purpose

20. What is a sonnet?

{A) A poem of six lines

{B) A poem of eight lines

(C) A poem of twelve lines

(D) A poem of fourteen lines

21. Poetry must involve not only intelligence but also
(A) Rime, form, and meter

(B) Sense, sensibility, and sensitivity

{C) Senses, emotions, and imagination

(D) Range, sensitivity, and purpose

0

D) The above poem is a denotative piece.

23. Which of the words in the above poem are personified?
(A) Day & Play

(B} 1 & Winter

(C) She &1

(D) Snow & Winter

24. What is the rhyme scheme of the above-mentioned poem?
{A) Rhymed at the end: aa bb

{B} Unrhymed at the end: ab cd

(C) Rhymed internally with scheme

{D) Unrhymed internally without scheme

(
(
(
(
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> VARIOUS TEST

25. What is the meaning of the underlined part?
O, if, | say, you look upon this verse
When | perhaps compounded am with clay,
(A) Fled
(B} Moaned
(C) Buried
(D) Mocked

» READ THE FOLLOWING POEM AND THEN ANSWER THE QUESTIONS 26-34.

That's my last Duchess painted on the wall,
Looking as if she were alive. | call

That piece a wonder, now: Fra Pandolf's hands
Worked busily a day, and there she stands. )
Will't please you sit and look at her? | said

"Fra Pandolf" by design, for never read
Strangers like you that pictur

The depth and passion of its{earnes

But to myself they turned (sin

The curtain | have draw

And seemed as the

How such a glapes tape
Are you to tark ahgkas
it % gsence only, called that spot

e Duchess' cheek: perhaps

Over my lady's wrist too much,” or "Paint

Must never hope to reproduce the faint
Half-flush that dies along her throat": such stuff
Was courtesy, she thought, and cause enough
For calling up that spot of joy. She had

A heart—how shall | say?—too soon made glad,
Too easily impressed; she liked whate'er

She looked on, and her looks went everywhere,
Sir, 'twas all one! My favour at her breast,

The dropping of the daylight in the West,

The bough of cherries some officious fool

Broke in the orchard for her, the white mule
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She rode with round the terrace—all and each
Would draw from her alike the approving speech,
Or blush, at least. She thanked men,—good! but thanked
Soemehow-—I know not how—as if she ranked

My gift of a nine-hundred-years-old name

With anybody's gift. Who'd stoop to blame

This sort of trifling? Even had you skill

In speech— (which | have not) —to make your will
Quite clear to such an one, and say, "Just this

Or that in you disgusts me; here you miss,

Or there exceed the mark"—and if she let

Herself be lessoned so, nor plainly set

Her wits to yours, forsooth, and made excuse,
—E'en then would be some stooping; and | choose
Never to stoop. Gh sir, she smiled, no doubt,
Whene'er | passed her; but who passed witho?
Much the same smile? This grew; | gave copm ’ %

As if alive. Will't please you
The company below, then. |
The Count your master's known munificence

1 S tence
Of mine for dow i &.‘ igiiowed;

¢1's self, as | avowed
gbject. Nay, we'll go

cast in bronze for me!

26. Who is not among the characters of the narrative poem?
(A) Duchess

{B) Emissary of the Count of Tyrol

(C) Count of Tyrol

(D) Unidentified Young Man

27. What is the type (genre) of the pocem?

{A) Lyric

(B) Epic

{C) Dramatic Monologue

(D) Sonnet
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28. The bold words are examples of )
The dropping of the daylight in the West,
The bough of cherries some officious fool

(A) Alliteration

(B) Simile

(C) Synecdoche

(D) Apostrophe

29. What is the meaning of the word “munificence” in the poem?
{(A) guarantee

(B) great generosity

(C) cloak

(D) forgivable

30. What is the theme of the poem?

)
B} If you choose not to marry and have a family,
C) The theme is the arrogant, authoritarian mindsg

(
(
(

Lol dogines 5T =V g &3 503 3L 325 ols
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D) Morality and decay are the results of mixingungguator dissimifar in the body.
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Direction: EACH OF THE QUESTIONS OR INCOMPLETE STATEMENTS BELOW IS FOLLOWED BY FOUR
SUGGESTED ANSWERS OR COMPLETIONS. SELECT THE ONE THAT IS BEST IN EACH CASE AND
THEN COMPLETELY FILL IN THE CORRESPONDING CIRCLE ON THE ANSWER SHEET.

1. An Essay on Criticism by Alexander Pope is a
a. love b. critical c. didactic d. nature
2. Which one of the following works by Pope is mock epic?
a. Pastorals b. The Rape of the Lock
¢. Windsor Forest d. Essay on Criticism
3. According to Johnson, who is an ideal poet? One who
a. makes familiar things new by his genius
b. arouses the readers’ sentimentality
¢. writes according to the logic and reason )
d. explores the sufferings of man
4. What is Johnson’s theme of themes?
a. The immortality of art Fhe vanfty of human wishes
¢. The corruption of aristocrati d. The priority of wisdom over emotions
5. Who is the first nature pogt of nd?
a. Thomas Gray b. William Cowper
¢. James Thomso d. William Blake
6. What is the.skilyj atter of An Account of Corsica by Boswell?
b. Boswell’s autobiography
Boswell’s visit to Paoli d. A poem collection
7. Why Elegy Written in a Country Churchyard is considered a classic work? --Because it
a. is universal b.is old
¢. tells a myth d. is religious
8. What is one of the main themes of The Season?
a. The cycle of human life b. Nature as a source of religious experience
¢. The mortality of man d. The passage of time
9. How was Gray’s style of writing?
a. A very fluent and rhythmic diction
b. A difficult and harsh diction
c. A highly artificial diction and distorted word order
d. A simple and ordinary diction
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10. Which literary work gave rise to Romanticism?

a. The Spirit of the Age b. Prelude

c. Defense of Poetry d. Lyrical Ballads
. What abstract concepts are personified in Collins’ Odes?
. love, beauty, purity b. fear, pity, the passions
. love, pity, the passions d. fear, purity, pity
. What is the theme of E.M. Forster’s The Longest Journey?
. the differences between living and dead relationships
. the nature of love and italy as a liberating agent
. the relation between inward feeling and outward action
. the relation between the indians and the English
. What is the subject matter of Songs of Experience by W
. The fallen world as it appears to an innocent

overf!ow of powerful feelings
al as possible
nan the peace of mind

seris conclude:

eroic couplet b. Some artificial poems
. Philosophical verses in quatrains d. Didactic verses in heroic couplet
. Wordsworth is called the poet of:
. Revolution and innovation b. The remembrance of things past
. Disturbance and confusion d. Calmness and tranquility
. What are two dominant types of fiction in the late 18th century?
. Gothic novel—Novel of purpose b. Romantic novel—Novel of purpose
. Sensible novel—Horror novel d. Gothic novel—Romantic novel
. Who has written the myth of The Four Zoas?
. Coleridge b. Wordsworth
. Blake d. Scott
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19. Who is the founder of English historical novel?

a. Ann Radcliff b. Lord Byron

¢. Mary Shelly d. Sir Walter Scott
20. Which Romantic figure wrote in neoclassic style?

a. Shelley b. Keats . Byron d. Coleridge
21. What is the theme of “Ozymandias” by Shelley?

a. Passage of time b. Inevitability of death

¢. The immortality of art d. The immortality of man
22. The Rime of the Ancient Mariner, Christable, and Kubla Khan are

a. nature and beauty

c. sense and feeling d. sensibility and
23. Which sentence describes Keats’ poetry?

a. Lord Tennyson b. Forster
¢. Carlyle d. Arnold

25. There is a major simfilarit Q\feen Byronic hero and:
Ot b. Ahab in Moby Dick
d. Milton’s Satan

orian period, which poet gained the title of “the poet of the people”?
b. Alfred Lord Tennyson
¢. Walt Whitman d. Thomas Carlyle
27. What is the recurrent topic in Mathew Arnold’s prose and poetry?
a. How is a modern Industrial society
b. How to develop a modern industrial society
¢. How to live joyfully in a modern industrial society
d. How to develop yourself in a modern industrial society
28. How did T.S. Eliot invent a new form of poetry in 20" century?
a. By mixing formal and informal words
b. By mixing metaphysical and imagist poetry
¢. By mixing mythical and ordinary elements
d. By composing his Waste Land
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29. What kind of work is P.B. Shelley’s Prometheus Unbound?
a. poetry b. novel C. essay
30. Which of the following describes Carlyle’s prose style?
a. A concise, vivid prose with direct syntax
b. A vivid, allusive prose with orthodox syntax
¢. A vivid, explosive prose with unorthodox syntax
d. An imaginative, explosive prose with unorthodox syntax
31. What are the three major influences on the development of moder;
a. change of values, a new view of time, and individual loneliness
b. change of values, psychoiogy and symbolism

32. James Boswell’s Life is a record of
a. Samuel Johnson’s life and works

c. Arnold and literary figures of €ngla
d. Matthew Arnold’s life and wo
master of ..........
¢, Comedy d. Satire

d. logical

_ b. imagist-symbolist romantic

¢. imagist-symbolist metaphysical d. realist-imagist neoclassic
36. Thomas Love Peacock is especiaily famous as a

a. satirist of Romantic period b. novelist of Victorian period

¢. historian of Romantic period d. lecturer of Victorian period
37. What are Lord Byron's two constant sentiments?

a. Love of freedom and search for beauty

b. Love of liberty and a detestation of cant

c. Self control and freedom

d. Love of beauty and hatred of dishonesty
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38, What does Wordsworth mean by “two consciousness”?
a. Man as a poet and man as a human
b. Man’s real identity and his fake identity
¢. Man’s emotional life and man’s intellectual life
d. The present man and the past man
39. Arnold’s career as a literary person is concerned with:
a. poems-literary criticism-religious writings
b. novels-literary criticism-verse dramas
c. novels-poems-literary criticism
d. verse dramas-poems-literary criticism
40. Whose works were influenced by Plato and Neo-Platonists )
a. Lord Byron b. William Words
¢. Percy Bysshe Shet!ey d. John Keats

a. man is a lonely creature

€. man is his memories
42. Which poem is about the for

a. Tintern Abby b. Nighti [ Ode to the west wind d. The Prelude
43. Which one of the following Wor agothic never?

a. The Italian . Gal ms  ¢.Emma d. Waverly
44. Who is the poet g

a. TS Eiiiot R i . d. John Keats

exahder Pope, the supreme value of art is provided?
b. Beauty c. Instruction d. Form

a. 20" century b. Victorian age ¢. Elizabethan age d. Restoration period
47. Who is the representative figure of golden world of liberal culture which was shattered by the
Great War?

a. Edward Thomas  b. Rupert Brook c. Butler Yeats d. Wilfred Owen
48. What is the theme of Anthem for Doomed Youth by Wilfred Owen?

a. The inevitability of war b. the tragedy of young men killed in war

¢. Death as a nice end d. memorable moments of war
49. Most of Thomas Hardy’s novels take place in a rural setting called ........ .

a. Ireland b. New England ¢. London d. Wessex
50. Whose works begin modern English drama?

a. Oscar Wilde b. John Galsworthy c. Bernard Shaw d. Butler Yeats
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V. Bonjour, vous allez bien ? -~ Bienet .... ?
a.cava b. salut C. Vous d. bonjour
Y. Vous vous appelez comment ? -Je ..... Human.
a. m’appele b. m’appelle c. t'appeles d. vous appelie
¥. Elisa habite a Madrid, elle est .......... .
a. américain b. espagnole ¢. espagnol
. Hiromi Kasai est japonais, il .... a Tokyo.
a. habite b. s’appelle c.a
°. Trois +deux = ............ .

a. quatre b. six C. sep@

1. Vous étes allemand 7 -Non, je suis ...........

a. portugaise b. marocain TR d. italienne
V. Goli.... VY rue Laleh.

a.esta b.a o d. habite a
A Reza....Y%ans.

a.a . Hxhite . as d. est
A, ... dgeas-tu?

a. Quelle B~Zomment 3 d. Quel
Vo Queleg ‘

a. l’ \ b. les . ton d. Carlo
VY, Mitray gielle est ... adresse ?

a.ta b. ton . cet d.la
VY. Quelle est votre nationalité ?
a. Je suis iranien. b. J’ai YV ans.
¢. Vhabite & Ahvaz. d. Je travaille beancoup
VY. Jhabite a Karaj mais .... le francais & Téhéran.
a. j’apprend b. j’apprends c. je travaille d. je fais
Ve Jai Yo ansetvous 7 . ... jai Y3 ans.
a. Moi b. Toi c. Vous d. Lui
Ve, Mehrdad que faites- vous ? -Je suis.............
a. journalist b. célibatair c. célibataire d. journaliste
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V1. Elle aime beaucoup le cinéma, mais elle ... lire.

a. adore b. fait

YY. 11 a trois enfants 1l aime ... .famille.

a. mon b. sa
YA, Et vous Pierre?

a. Toi/ la b. Moi/ cet

c. déteste

C. 80n

. «..., ] adore le théatre et ...chien.

¢. Mol/ mon

VA, Cest votre professeur, it a YY(....) ans.

a. soixant- dix
Y. Zahra ....est.... nationalité ?

a. quel/ta b. quelle/ ton

Y. M. Moradi, il s’appelle comment .

a.ta b. ton
YY. C’est un cadeau pour ....enfants.
a.ta b. sa
YY. Ma nuit est plus belle que ... jour.
a. ma b. mes
. Ali adore ... sport, il fait ..,
lelle

b. soixant- douze

C. soixante-onze

¢. quel/ton

... Chien ?

C. volre

o)

C. votre

c. le/du

i ... dance.

a. le/de la
. Philipe et moi, a,

ans, je Crois.
b. Elle
ette pomme ?

. manges b. manger

c. de lafla

-3

C. ]

c¢. Tu

C. mange

. Vous (travailler).....ot M. Goldoust ?

. travaille b. travailler
.Onassisest ... .
. grecque b. grec
A ? -A Ramsar.
a. Tu es francais
c. Tu as quel age
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c. travaillez

c. gréce

d. aime
d. les
d. Vous/ma

d. soixante ¢

d. mes

d. vos

d. du/du
d. la/la

d. il

d. Ils

d. mangez
d. travaillé

d. graisse

b. Il s’appelle comment

d. I1 habite ot

OV -A¥OA-AN

ORLT s 5 50T 5l ians AsPeeihid dlligss

www.SanjeshT.com



gt 20YHuw Slied
o {aiahd) el o

¥Y. On .... manger?
a. est b. va
¥¥. Nous ....lire ce livre.
a. pouvons b. pouvez
Yi Ahmad vous....... des amis jeudi soir ?
a. aller invitez
¢. allons inviter
Yo Tu....boire un thé avec moi?
a. veut b. veus
Y21, s ....manger ol ?

a. veux b. veulent

. habite

. peuvent

. allé inviter
. allez inviter

. VEUx

¢. voulons

Y¥.Hya trois garcons dan ....cette chambre.

a.a b. en

C. dan@

YA lya¥ .. .surlatable, Ramin lit le journal de 13

a. journaux b. journeux
¥4, On envoie ....carte & Shirin 7
a.un b. le
¢+, 1Is vont diner ....Reza.

a. au b. a
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d.a

d. pouvoir

d. sur
d. journos
d. des

d. chez

ORLT s 5 50T 5l oy AsPeipid dlligsss

www.SanjeshT.com



-

— il ¥ gl 1Y Sl ol petas Slodt b AT = B Y uolas Sloaliyd b
il o 5 gl {4BiB3) el s (VY2 88) = ST U e e —(V VAR FA) — a6 st 5 b 3wt o [ ghuadd &y

—— 331 eokikw! (V) S st g0 o

I Bl B a1 e 0
S5 yaadi 0 pudall Sl g

ca..a.au&Lan O-..\in.g;.s
o glos (sletis g olallins § 85 3 u,l8 0
Cuog8a puadt g cnasla dllews (07 o g wla o1l 3 gols yo by

SaaSa .l L}f.'i.a.li Jua T - JZ\.'al WA
?mielﬁ‘%aﬁwiﬁaixldagﬂ&g@ AT 78 d.gojmi‘)b‘}iwésuﬂ.cmduoeﬁw@ﬁ.\‘

Ol sy O dyae S iat G deie dusgas a3l (o 9uddh e I
(A agd alge L a9 08 Sl IS dad) salaus( Gl 0 g9 Gty Olailas (la) 48 dleua 3 (lalgd dlo g yilia 510
T&88 o0

ER P

ig Goudt Jloa s g G gallls aua ylase 1
Sl ahaS aal aasg dlog plia 0599y Gt i g padad dlsa) 5o 4S 6 AT Gt yiga £

Sy slali g soal oS o Sieenall Sileas A
Casfipad jlach dy Cuo g pulio SLET 133 oile gud g0 5f Saelas ¥

Sy S g aaladg Al 6.3!,5&.\:\“ s e (sul T Al
Cach JET 40 9&a (o 5al 4o sl A

T g1l g alge sladalitulal asa i L s il gdaand g dajad gl bl

LT a9 Sl sladaladulal des 3 b sAlsd glpsb bz
GCaasa oaljus 93T T 3 €al yub» iy g gud 3o A

Srols slhalldd gy cras gt 7 )15 8 gach 3 ol& . Alge Auald g oubac wiide 3

ST 8 5L 0 &yl glied Gla ouadis &yl ghead la 5180 o gaud 3 o8I .z
G905 5968 (e dp 3 Ol 49 wana o gacd dy (oo g9 liaals N

SBLS, 598 pus  absgpdis il juog dbgypuiio ) g b g pulio G Gl B

Lol Skl suipe 5 1 Ml g 45 505 s 32 55 mols T 5 50T (5l ains AsPenshid Hlpgid
www.Sanjesh3.com -OV-AFOA-AY www.SanjeshT.com



__:uwﬁ €. :uw:a‘il;waw ol pelas oLg;i'L_uu.:\.:..ﬂ =5 Y olas c.:L_._,;l:uw,a,aU
— il 0 i) el ol (V37 08) 8 13 oo st~V Y AT BA) )6 sl 5 o5t o [ s 40

! Jloma —— 331 eokikw! (V) S st g0 o

Slueul g o) gill Frsuls oGS deodA adil gy g yaebin 18007 W8 gall (aliS alus

KPEY g_ak:lS o o:l.'u.u;;a.“ Sileus T (5 dady e CL:L}‘;J‘ d:\l.:.u.a A
ool juy olis alus Hgfals aliialace LGS 5 guu ala N Y

Ol yaud yal dels yls a aolii pa gl i .4l

cu.ﬁ:‘:JJ' uu.s:e W

Sosnl S yold € plgdest sLils ala»
.J.u.u‘_,ula.cuéLISJSJ.\ e\\"\‘\" L 38 A9

do g yiiis 8450 ouleu Y'Y &;

plas b Ol il yeolas Gaul juwssa il AY
Jlack asea’ 3 off Jabo laiil .3
ladas dalle &4 g 00 OYEs O
0985 S0 3 (oS Olhuats 3 oalllan G 3id ol
B aadlls (col830 (laaiud ga .0
Ca S oo sla ol Stdaal ya osas il S aluS gha €y 9h 0 ylol dea» 94598 dy 0ud ) » Slgaliculs VO
ot 8 Ol . Geo alkal b sdllae o s2lS otadl Al
Tt 7ot ot 35 A1S JaBAS dslslsdd 0490 Ha NP
b 00l ol ol adad ds 4S Cuol 0 950 YYY LM
il 5L g0 eadhnl B jlas g a¥el g cadd QLIS (33 il o
vl 38l o 5 Sa Slaluidl oF Ayl aMel yo.z
Sacdils (g 1S fadas delioadd Juesh 5o (5 gaaa aliuwl 8
Glns (81 «dls g o O W lea‘,.:u;» Y
JPRLINL PR - RS- R VPP b sl il ste 4t
Judl ol 5300 S il 1500 -5 hiaas sl e ¢
O «oucds 4ic gh abuaill by 90 j8 (el LG 53 59, OF 5 4S (6 50 (s yigs ¥ (fghe da o glS dlae ya oaljlaa (4 alas 3 0A
Gaal 439,

SH0 Spug Saw el S Sl g ool w38 .0 asly o of y .8l

LaolShinl s 5 1 Ml g 45 505 s (32 55 mols T 5 50T (5l ains AsPenushid Hlupgid
www.Sanjesh3.com -OV-AFOA-AY www.SanjeshT.com



-

— il ¥ gl 1Y Sl ol petas Slodt b AT = B Y uolas Sloaliyd b
il o 5 gl {4BiB3) el s (VY2 88) = ST U e e —(V VAR FA) — a6 st 5 b 3wt o [ ghuadd &y

! Jloma —— 331 eokikw! (V) S st g0 o

Goaal panes 4338 aluS waljlaa i3 5,50 514
S olus g oladlacsl § GE5lg s 0 BIG g ailad 5 90 4 g Ol 9 oable 5 4 A
s JBal g ladt 5 ouldiad wlbd Jad g saa oha s ¢
Goudils (5 jlSan dlas alas b «oulas gubo» Y
Syl 5 guo 3 s9ls ¢ i ge o
A 50 (339550 (A 995 eelatial Cuadgs g agd Ol has b cailiio slgiuadad 51 S 48 a5 ) Cula i

ity ge Salgadia i
Sluuan «lyils g (uand ¥ (lay £ gud g0 XY
Siie sl ate
30,5 slalyate . SILd s S glable g
SaeusS €IS Sils Glicdda» (lay Buieas g3 YO
S9pud 1330 S sans s ST 53 gaS puaga fand
g2 Ola Graa T 0 . wibess oul) Fris g
GCuat A1aS guunyl8 polaial loy Galgl Y7
sbica 4839, alaml S gie s 30 yged &
Sals 18 BT sl 3950005 5 O ga 1 Olaleile ) aslaig yu wgd (f puanaa j orglits colaial (yus g30le ; plas TV
9o Saas .8 it s las @)l sans Al
Cuualas g yie0 glach a3 (oo jld 33 59 pdla (53 Slesas 3 lle g5 45 dbog yulis pars doliclialas G 389 y2e YA
252 5 138 ot AL g3 K38 3 (b i i
Sudie diluddl o paslls
Qoncat oS da Al g3 «Shy by » Llis ¥4
ST LS pulss Orts e il

E9wS daal a3 3918 559 pual il .7

Lol Sl s 5 1 Ml g 45 505 s (32 55 mols T b5 90T (5l s Adstuspld Jllipgid:
www.Sanjesh3.com -OV-AFOA-AY www.SanjeshT.com



-

— il ¥ gl 1Y Sl ol petas Slodt b AT = B Y uolas Sloaliyd b
il o 5 gl {4BiB3) el s (VY2 88) = ST U e e —(V VAR FA) — a6 st 5 b 3wt o [ ghuadd &y

! Jloma —— 331 eokikw! (V) S st g0 o

St o9 i (plosans ST )i i3S plus -

bl i Ciasa s Lnglé.mQ:s:ﬁ.E Lig s Crasa piew .o Jare s yli 8l
Gl 83 55 dan y3 s qelJ«@.e_,t_,miB;_.‘_‘,» wlis ¥

Dt sans s ST S uls S

ot 98 sl sana

&

os N T OV RAEGN Y
§ gale a3 (gl gl LS pls Y
Gileebaat i) L&l
300 113 20 a3 ag3%a
Sacdly at Ko g Goles A5 culaliie Jf 4338 alas ¥0
pladt g JLET o o3 o8 Cidlan (T A
Tl plsi Slael ¢
Cacut dall jiun «aaal 1 JHlar HBT 3 i3S alas P
L guiS Cacids pons g wiajl g s o Ol et Al
» 3 casnl hcsallann e Cruallh ) Sans 43 g I8 g saal ST Pl ST 31 Saplas ¥V
Mo 48 ey ) ol sl his o S0 A A
Gt ) ggadio € calinn gy Oilasal» oudeas 93 da (3l pat J3 ya) BB g3 3 Saplus YA
Y - POV Gabiodgs posp gl Guiaaedlé o S5 e dace A
Swas 3 €z ghon (S o r ggudio lay TR
sl oudgu agans 25018 Gsanie i ¥RV E S seal JT IMa .4
upha O et €0l Jlasa Gl o > SaasS G ouliieat U sasas ¢ JSudio (slgalacats BIA o ouleaws g3 alus ¥+
(S il Rl g 0 Sokea al s 7 ity bid o 3 9ads saal B

Lol Skl sz 5 1 oVl g 45 505 s (32 55 mols T 5 50T (5l ains AsPenihid Hllpid
www.Sanjesh3.com -OV-AFOA-AY www.SanjeshT.com



Sire 0952 039 KVoJN JPor) L3030 L3

Pl v e e Mand b g0 ippd ali
— il £ g {4RB) gej ol VYYD FA- eSO 503 35 g0 2yd o | sladdd 45

—— 231 saligu! (¥) 35 sl Gy 5

a8 e el o o8 gt ol |y g
Choose the best answer.
1. Nomological network is a way of speaking systematically about the role of
theory and measurement.

a. observation b. constructs c. science d. consequences
2. Which of the following is NOT among the parameters of ‘test usefulness’ sugge
and Palmer?

a. Authenticity b. interactiveness  c¢. Representativens
3. According to pragmatic theory of validity, the most convinch
considering ... .

a. testability of the hypotheses

¢. epistemological questions

a. CR measurement b. Trait theory
¢. classroom assessment d. large-scale testing

be seen as fundamentally different to large-scale assessment

b. reliability
¢. performance assessment d. contextualization
6. Unlike a theoretical model, an assessment framework is ............. .
a. highly abstract b. used directly to write test items
¢. relevant to a specific context d. a representation of knowledge and skills
7. Changes in test design would be possible through ............. .

a. parallel RE b. straight RE c. historical RE d. critical RE

8. Rapid prototyping of items and task types is basically .............. .

a. qualitative b. quantitative c. holistic d. analytic
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9. Beta testing can include the study of .............. .
a. item-level statistics b. reliability
¢. test-taking processes d. dimensionality
. In primary trait scoring, the scoring procedure is ............... .
. designed for each individual task b. analytic

. norm-referenced d. never based on muitiple scalegd

. ltems of equal difficulty.

. More items.

. a rating scale

. an assessment framework

development process.

a. effect _ c. interpretation d. practicality

¢. emphasizing the role of literacy for immigrants
d. controlling immigration
15. Retrofitting a test to a new purpose that was not intended at the time of design
a. is a sign of ignoring construct validity
b. requires a new argument and evidence for validity
¢. is an unethical decision whatsoever

d. can be accepted only for classroom assessment
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. In which context is the "impact" of a test usually discussed?
a. Reliability b. Content validity  c. Ethics d. Practicality
. The "syllabus-content” approach is based on which of the following principles?
a. Achievement tests should be exactly based on the materials used.
b. Achievement tests should be based on learning objectives of the syllabus.
¢. Achievement tests should measure the quality of course content.
d. Achievement tests should give feedback on poor teaching practice 3
18. What is the main advantage of indirect testing over direct g
a. Attractiveness b. Interpretati¢n htforward
¢. Generalizability
. Which of the following is a kind of adapti
. Cloze test b. Comp ictatiot d. Oral interview
. In which case should the sepa ence of measured abilities be studied more seriously?
. Subjective tests b. Indirect tests
. Direct tests d. Objective tests
. Which of the following does NOT provide evidence for construct validity?
b. Correlating scores with samples of behavior
. The study of test-taking processes d. Criterion-relatedness
. Which of these statements is acceptable?
. An invalid test is undoubtediy unreliable,
b. An unreliable test may be valid.
¢. An invalid test cannot be reliable.
d. An unreliable test cannot be valid.
23. Which of the following does NOT enhance positive backwash?

a. Direct testing b. Wide and unpredictable sampling

¢. Higher reliability d. Criterion-referenced testing
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. Moderating items usually require ............. .

. statistical analysis b. two colleagues

. trialing of the items d. native speakers

. Calibration of scales is based on ............ .

. trialing the test b. reviews and comments by colleagues

. experts' opinion d. collecting samples of performanice

. Time to answer
. Availability of distracters
. The weightings in analytic scales for scoring wrifi

. the desired reliability

b. Graphic features c¢. Length

. test genteral knowledge about the subject

. develop items that need matching a string of words

. make the items independent of each other

. make changes to the text if they improve items

. Partial dictation is mainly used as a test of ........c......... .

. spelling b. grammar c. listening d. writing
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